ZithtMENS A R EE S EEEE RS
CHEEITEREEEHHTER

01 H& Jptin

R [TEX FLE Mo HE| BE | HEKE S FammH | SERCH B | ST | R T e
ZKHEFT| 1 PREEEZIR 51 90,000 90,000 |&FHH. BE (Rbr  (107.1.31 107.3.19 | 90,000 0
681500 (FE—5) = FEET320 A2
2 PREEER 51 90,000 90,000 |&FHE BE (Rl (107.1.31 107.9.29 | 90,000 0
(B35 = FEER320 A0
3 PRORELAFR |1 72,000 72,000 [EEfEARAEAE18000C  (107.7.31 107.11.22 | 72,000 0
A4t 107.7.3%8 5
4 BEETLERR = | 1 26,000 26,000 [BE(EAFEI#ES00T  [107.7.31 107.83 | 26,000 0
4L 107.7.3%8 5
5 |FEBEHESHEAENE = | 1 | 40,000 | 40,000 |EPNLEDHAHA 107.1.31 107.8.27 | 40,000 0
B H R
6 |FRKIREIRIRE 511 99,000 99,000 |EEfE AR #1507 [107.7.31 107.9.17 | 99,000 0
B 107.7.3%8 5
7 BRI EE) % 1 90,000 90,000 |1074F -l -6 EE)  [107.1.31 107.6.15 | 90,000 0
8 |EFGECETEE) 51 99,000 99,000 | &4 18 b, HH 107.7.31 107.9.27 | 99,000 0
REE#1507T
107.7.3%8 5
9 PROKEIE | 1 45,500 45,500 PR EEHHT 707 107.1.31 107.6.23 | 45,500 0
10 |EFFHEE4EE | 1 30,000 30,000 |58 A B ARG L 107.1.31 107.3.9 | 30,000 0
RE
ety 631,500 631,500 0
BEAM| 1 kEEETE KX 1 50,000 50,000 |4fEE B N EREEE 107.1.31 107.5.15 | 50,000 0
325033 A
2 (eBiRtEiEg T | 1 60,000 60,000 |4fEE B B A% 107.1.31 107.5.28 | 60,000 0
2 o
3 |EEEES = 1 36,033 36,033 |58 A BRI AS 107.1.31 107.3.9 | 36,033 0
BE, e N EE
4 |FE% a 1 99,000 99,000 (A58 A EEAR S Th 107.1.31 107.827 | 99,000 0
gERE NEE
5 |7 = 1 80,000 80,000 158 B EEHR 5T 107.1.31 107.2.9 | 80,000 0
BERE NEE
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T+ EATTEEL 1,006,533
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02 & A

LE | [T FLE Mo HE| BE | HEKE S A FEaommHE | SERHE | SI&E | R TERE
M| 1 EEFOETLE A |12 | 5,000 60,000 [EEHLIER 107.3.21 107.3.31 | 15,000
734,934 BUEEE 107.6.30 | 15,000
107.10.16 | 15,000
107.12.31 | 15,000 0
2 PRORFBAIIRLS 2| 1 259284 | 259,284 [EFEEAMEZEE 107.3.21 107.10.16 | 259,284 0
REER
3 PREREEES) g 1 | 175000 175,000 |FEETSE0EE, &5 [107.3.21 107.5.18 | 175,000 0
& b, HE
EN4RSE
4 |CEF& |1 10,010 10,010 |E¥F AR AEAH  [107.3.21 107.5.1 | 10,010 0
5 pINEEE = | 1 12,000 12,000 {10847 5 G %L 107.3.21 12,000
i B BN
6 |1074EmanEEy | =0 | 1 80,000 80,000 |BE B Im ETEE)  |107.3.21 107.6.15 | 60,000 20,000
s R BB RS
i
7 |EIGERELR = | 1 38,640 38,640 |BUE ENFH 107.3.21 107.10.1 | 38,640 0
8 |ATEIRERE K = |1 1,618 1,618 T A TSI AT 107.6.19 107.6.27 | 1,538 80
IR & ARk E
9 |EAHREENE |1 8,000 8,000 | & {5, H1E, 107.8.31 107.9.25 | 8,000 0
F AE4K, PR A E
2 H
10 oK 78 S HAZE, |1 36,640 36,640 |4EEE R Adafit  107.8.31 107.11.28 | 36,640 0
E L
11 PRORE RS = | 1 53,742 53,742 [103FEUEIRIREE  {107.8.31 53,742
RS P&
Az s
K
EaTE 734,934 649,112 85,822
BEAM| 1 BEitesEE X 1 98,000 98,000 AT S=E%4E  [107.3.21 107.5.29 | 98,000 0
271,599 fE R TAE EAb,EIEKEE]
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LE | [T FLE Mo HE| BE | HEKE S A FEaommHE | SERHE | I E | R TERE
FERAE K7 27K E5EE
2 [BEESHIELE =X 1 69,978 69,978 |4 HIRITHVZ  107.6.19 107.7.18 | 40,720
2 (BF1065-292807T
{6 FH, 445 199,258 107.9.19 | 20,000 9,258
7C) 107.5.258% 5
3 |[PEE L] 1 79,242 79,242 [FEFNEBEERSEE [107.6.19 107.6.27 | 79,242 0
F Ry RAREHE
107.5.25%% 5
4 |ERS =X 1 24,379 24,379 [MEBNEBCEESEE  [107.3.21 107.59 | 24,379 0
Ry R AR AE
=EiL 271,599 262,341 9,258
O P+ B AR FI4EE 1,006,533
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03 B JIEK

R [TEX = HA|HE| BE | iEKE i BH FEamE | SERHI | STE&E | R TERE
ZKHEFT| 1 PREEEZIR 201 99000 | 99,000 [EEEEEEE O [107.1.31 107.5.12 | 99,000 0
466690 TEFET20 NS
il
2 |HRKEREED % | 1 | 50000 | 50,000 [&0RMEEE i [107.1.31 107.9.22 | 50,000 0
B THET600 A 2
il
3 BRL4EEEAE | A | 12 | 3,000 36,000 |4EREE AR 107.1.31 107.6.30 | 18,000
B 107.12.31 | 18,000 0
4 |ETAFIINE k| 34 | 1,600 54,400 |EAET(EH 107.1.31 107.29 | 54,400 0
5 [EIEL = | 1 | 12000 | 12,000 |ENETEER 107.1.31 107.8.16 | 12,000 0
6 [HIZk I | 1 | 16000 | 16000 [&EtkEIR R 107.1.31 10729 | 16,000 0
7 EREEEAEEL | | 1 | 12,000 | 12,000 |[FLUIERSSEESOS 107.1.31 107.2.9 | 12,000 0
B35
8 |ERhE FE | 1 | 6,000 6,000 |EEEL1EK138E: 107.1.31 107.326 | 6,000 0
24FE [
9 | SRMEIRE = | 1 | 10,000 | 10,000 [fEFREEEAE 107.1.31 107.10.22 | 10,000 0
10 | Rtz 4H | 2 | 8,000 16,000  [FLLAEERSEES05%E:  [107.1.31 107.2.21 | 16,000 0
1 R =R 45R EE S
11 BV 4EfE |1 24,500 24,500 [ L IEEESER260 107.1.31 107.221 | 24,500 0
28071 7%
12 |EfS4EE |1 16,300 16,300 |tEAREEHE AR 107.1.31 107.2.12 | 16,300 0
13 [EFRRE |1 36,000 36,000 |EL PN A€ 107.1.31 107.29 | 36,000 0
14 |FEVEEFZS | K| 1 18,000 18,000 |( B B f5E A 107.1.31 107.29 | 18,000 0
15 |FHEk% a1 1 6,290 6,200 B EL Wi\ i 107.1.31 107.2.13 | 6,290 0
16 |BSERIAEE |1 8,000 8,000 [fEFREZ 1005775 [107.1.31 107.2.8 8,000 0
17 G MRS | #iE | 1 18,700 18,700 |E N&kEA LI 107.1.31 107.29 | 18,700 0
18 /&2 E 1 22,000 22,000 |EE AR 107.1.31 107.2.9 | 22,000 0
19 SCEAR ft | 1 5,000 5,000 |75 {#E A 107.1.31 107.4.10 | 5,000 0
Ent i 466,690 466,690 0




it EMEIA R g EEER G
TEMRE 107 T ER

03 B JIEK

L& [T HA|HE| BE | HEKE i BH FamEHE | SERHE | STEE | R TERE
EAM| 1 (N fTEpER L = 1 48,000 48,000 |HRLLIdERESER2827  |107.1.31 107.3.13 | 48,000 0
489407 £ |
2 [ sRFERET |5 1 37,000 37,000 |[E=#8 185138860  [107.1.31 10729 | 37,000 0
2 i
3 [EI% = 1 92,000 92,000 | B B AR 107.1.31 107.2.8 | 92,000 0
4 |hEE 4H | 72,000 72,000 | B Y AR 107.1.31 107.2.8 | 72,000 0
5 [FHIOKE% ESS 1 93,500 93,500 [E S EMEERE  [107.1.31 107.29 | 93,500 0
e,
6 |[TREHEE#L R |= 1 61,000 61,000 [tEPREHF AR 107.1.31 107.2.12 | 61,000 0
[ BB BT
2
7 |LED#:(% TF2 = 1 85,907 85,907 |Mh B dEEESEE  [107.7.31 107.8.20 | 85,907 0
505#5[1107.7.28% 5
EaTEl 489,407 489,407 0
A R N 956,097
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R [TEX FLE Mo HE| BE | HEKE iR B FammHE | SERRHE | ST | R TERE
HEFT| 1 (BT G | 15,000 15,000 (B H/EEIT00  (107.1.31 107.12.31 | 15,000 0
817533 B TC
2 AT ER E Gl | 658 658 [523-EPKAFEH%E.  (107.1.31 107.12.11 658 0
{1 F
3 |AHEHEENRME £l 450 450 [523-EPKAHHEE  1107.1.31 107.7.17 450 0
& {5
4 PRVEE S |1 99,000 99,000 [ HNEEFEE  (107.1.31 107.2.7 | 84,000 15,000
ORE &, BE R
8 1507C(FF106
150007 {5 FH4E
=11140007T)
5 [EFEERHE |1 30,000 30,000 [ E IR EULE. |107.1.31 107.6.14 | 30,000 0
H AT AR E A
HEANEAEIS0TT
6 |EFSEITFHEAR K, |1 7,905 7,905 |G EER 107.1.31 107.5.10 | 7,905 0
YRRE FLASIR
T PRERZIR 51 62,008 62,008 |[ZEHEE B RIr  [107.1.31 1074.1 | 62,008 0
HAEMEENE
#E15070) 3, THET
200 A2 n(FF106
75539705 F
{4=40755397T)
8 [t = | 1| 602,512 602,512 |[FEEEE &%, [107.6.19 107.9.7 | 228,412 374,100
BWTEANEEE
oK, AN EDM K
S EEE A
(B£1064E21,6007T
(s FH, 4851624112
7T) 107.5.318 5




ZIETEMEIIR S b S EEHE S
RIEREI0TFEREFEHGER 04 EF b
L E | [T FLE EUAE e A R i BH A H | ERREIE | I | R TER
=tk 817,533 428,433 389,100
EARMT| 1 |ErisEE(ETE R 1 50,000 50,000 [Hb B IERS435%8: 107131 107.12.13 | 50,000 0
189000 55120554k 1, 4%
FALIRRE
2 (MRS TR = 1 39,000 39,000 |4 HRTTHYZE  |107.1.31 107.12.4 | 39,000 0
Z(FF1065E90007T
{66 FH4451480007T)
3 |[BHTENFE a 1 12,000 12,000 |ABEEHDFLI065E  [107.6.19 107.7.2 | 12,000 0
24900 T FHAEG
369007T)
107.5.318 &
4 |EHS = 1 10,550 10,550 |ABSEARE A [107.7.31 107.89 | 10,550 0
HE(BF106539450
{5 A 4E5 50000
JTC)
5 PKEITE = 1 77,450 77,450 2PN 107.7.31 77,450
EaTE 189,000 111,550 77.450
O P+ B AP I4EE 1,006,533




At e bR R B R A

HBHEk EERITFEEEFHHHER 05 2R HEE
&R PRXRE B\ #E| BE |HEEE |H Y L I | SEpk I | ST | R TERER
MEFT| 1 |ESEERRT | ] 75,000 75,000 fEA MR R (107.2.23 107.9.7 | 75,000 0
875470 & 'H BRE A 300
T
2 [URZNE a1 8,000 8,000 AR ERMm  (107.2.23 107.3.12 | 8,000 0
B EANEE
3 [EET | ] 27,000 27,000 | &R 4R [107.2.23 107.10.18 | 27,000 0
4 (BTt £ 8,400 8,400 [E& & H7007T 107.2.23 107.12.31 | 8,400 0
EE
5 |EIREsE RE | 20| ] 9,000 9,000 FRAMRFERML  (107.2.23 107.7.31 8,200 800
£
6 PRERZAR % | 1 98,000 08,000 [ZEEEEMRE 107223 107.3.31 | 98,000 0
FETHET250 A2
7 |RERETSE) % | 1 53,000 53,000 feA s E A {107.2.23 107.5.12 | 53,000 0
'8, THET300-500 A
8 |08FFSE |1 17,000 17,000 f A EEMA  [107.2.23 107.11.28 | 17,000 0
=l
O |ATBHEEAEEE = 1,620 3,240 | A T5H#%HLT76-KDE - [107.2.23 3,240
MCH-0100 {5 /5
HITABEEM
10 FRIREFE T % | 1 80,000 80,000 [ZEEEEE MR  [107.2.23 107.6.2 | 80,000 0
2 FHE40A 20
11 & T 110 450 4,500 [EAHELEBIE - (107.2.23 107.3.8 4,500 0
H
12 | TIFFE T ] 20 250 5,000 | EENE  (107.2.23 107.38 | 5,000 0
H
13 [EEEH & 2 1,500 3,000 (RS ENE  [107.2.23 107.3.8 3,000 0
H
14 SCE AR x| 1 5,000 5,000 | ARSI E  (107.2.23 107.38 | 5,000 0
H
15 [FZir oK ssiasE | 1 30,000 30,000 [EE AR EENEE  ]107.2.23 107.6.13 | 30,000 0




At e bR R B R A

B % R BI0TFEKEFHGER 05 BE HEE
K& AR |EHE Hor|HE| BE |HEKE (R W FEaomEmHE | SERHE | S | R TERER
i
16 | MPFEERERZR [ 1 | 148530 148,530 |2H&EEEEE  [107.10.26 107.12.8 | 148,530 0
=250 A&
107.10.9%%
17 |HhociEE = 1 69,000 69,000 |EE NIRERVEENEE  (107.2.23 107.8.18 | 69,000 0
FH7EET300-500 A
18 |EéeeE aE) = 1 50,000 50,000 (EE A HFEEVEENE  107.2.23 107.9.15 | 43,856 6,144
FHTEZ1300-500 A
19 074 T F4HEMm |50 1 12,000 12,000 | AEEIFEET130  [107.2.23 107.9.8 | 12,000 0
S A&
20 1084 441 |0 1 12,000 12,000 (ERAEEIFEET130  |107.2.23 12,000
it i) e
21 PROREF LM | | 30 800 24,000 |EEUIRERVEENEE  (107.2.23 107.5.7 | 24,000 0
gl i
22 BRIREELEM | | 30 1,800 54,000 (A HEEEVEENE  107.2.23 107.5.7 | 54,000 0
gl H
23 |MERE4E(E = 1 10,000 10,000 | A¥HUEENEE (107.2.23 107.3.6 | 10,000 0
i
24 |ENHE = 1 50,000 50,000 |48 B P PRI 107.2.23 107.4.10 | 50,000 0
25 [Hh7Kik = 2 9,900 19,800 [FeA- AT $EAE  {107.10.26 107.11.28 | 19,800 0
77 107.10.98 5
Eat 875,470 853,286 22,184
BEAM| 1 [FEEK =) 1 30,000 30,000 (fEARS EERm  (107.2.23 107.3.8 | 30,000 0
181500 =]
2 [HZETAE = 1 36,000 36,000 (—ASHTRZE(ETT (107.2.23 107.38 | 36,000 0
NI
3 MEREEEL TR | 1 21,000 21,000 |EFRAS M4 4 107.2.23 107.7.5 | 21,000 0
4 |HEEE =) 1 20,000 20,000 [FRAMRSEERMm  (107.7.31 107.9.5 | 20,000 0
B 107.7.16%%
5 |HrAEERR | 1 19,500 19,500 |1 E N &R 107.2.23 107.7.13 | 19,500 0




it tMEI A bR EECEEEE G

BHER ESEITEEEEFHHFER 05 R @#EE
KR PRXRE B\ #E| BE |HEEE R Y FamEH | SRk 0B | STaEER | RETTEREE
B LR
6 |[ETFmitEi |X 1 55,000 55,000 |EEN 107.10.98 % {107.10.26 107.11.28 | 55,000 0
T
=L 181,500 181,500 0

P EATIREL

1,056,970




it tMEIA bR EESEEER G
EEREITFEEEEEHER

06 & RN

R [TEX FLE A HE| BE [HELKE R B FEEHE | SERRHE | & | R TERE
K| 1 (mTaiskeEE) = | 1 | 30,000 30,000 |FTEET300 A 200 107.2.14 107.69 | 30,000 0
594700
2 |hhkagEr 211 | 90,000 90,000 |& &M ETEET400  |107.2.14 107.9.21 | 90,000 0
il
3 PRERZIR 51 99,000 99,000 |ZEEEETHE400 |107.2.14 107.9.27 | 99,000 0
NS
4 |TUH EHETEE) 511 50,000 50,000 |&/NRIEEETHES |107.2.14 107.3.1 | 50,000 0
500 A 20
5 PRRESEMN = | 1 99,000 99,000 |2t BB, A 1107.2.14 107.10.16 | 99,000 0
1507
6 [ELZ8h |1 18,900 18,900 | EHEEEFHA200  [107.9.18 107.10.23 | 18,900 0
NE i
107.8.20%% 51
T KA |1 37,800 37,800 [FHE 3R ENEEE  |107.9.18 107.12.6 | 37,800 0
E#107.8.208%
107.9.18[F &
8 [ER4EE | 1 30,000 30,000 | 107.2.14 107.7.25 | 30,000 0
9 |[EFTFREMELEE | 1 50,000 50,000 |EENEEREZEME  |107.2.14 107.7.25 | 50,000 0
H
10 [ETHIAR |1 40,000 40,000 |EZFAR#EHEI007C  (107.7.31 107.8.16 | 40,000 0
KR 1800
It 107.7.108 &
11 ok 25itagE |1 50,000 50,000 |EEEEREZRZ  107.9.18 107.11.13 | 50,000 0
4 107.8.20%%
107.9.18[E =
Eat 594,700 594,700 0
BEAF| 1 |[ERFRsgERET X 1 91,000 91,000 |EENENEZEEFE  107.2.14 107.7.25 | 91,000 0
462270 2 H
2 |ERNERERE T = 1 99,770 99,770 |EE NIB I 4t 107.2.14 95210 99,770
2 107.8.2088 &




it tMEIA bR EESEEER G
EEEI07FEEEEHFER

06 & RN

R [TER IRaE| Hiy e BHE |[EELKE iR BH FEoEHE | ERRHE | & | R TERE
3 FEEEAE = 1 90,000 90,000 [Ht 25 FE i 5 107.2.14 107.2.28 | 90,000 0
2
4 |EfEEERETE | 1 82,500 82,500 | A 107.9.18 107.11.18 | 82,500 0
(BF1064F170007T
(i FI4EE1995007T)
107.8.208% &
5 [EEESEEZ | 1 99,000 99,000 [HE 3 5 107.2.14 107.11.14 | 99,000 0
HETRE
=EiL 462,270 362,500 99,770
KE P+ EARPTHRE 1,056,970




it tMEIA bR EESEEER G
HBHEk RERITEREEEHATER 07 B& #HEEK

R PHX FHH Bir|#E| HE | HEEE g FaEm A | SRk HI | SE TS | RETTERER

KEM 1 |85 = |1 937,406 037,406 |EIEEEER 107.3.21 107.7.31 901,207 36,199
1107406 (BEIO4F A 2= %8
239007THF1055F
850907 HE1054F
HHZEZA110837T
FF1064£998507T
{8 FH 4511157329
JT)

2 PRERZIR 51 60,000 60,000 | & Pris g B2, 107.8.31 60,000
HE %, FHET400
NN
107.7. 178

3 |HEEEE) |1 100,000 | 100,000 |&frinE B, 107.8.31 107.10.6 | 100,000 0
HES

107.7.17%%
107.8.31[EE

4 [EKEKE | R | 1 10,000] 10,000 pRASMIZEAK  [107.831 10,000
oy 107.7.178

I

EatE 1,107,406 1,001,207 106,199

[ ZNi 0 0

=L 0 0

P EATIREEL 1,107,406




it EMEI A bR EESEEER G
RARI0TFEELEE T ER

08 B &L=

R [TEX FLE Mo HE| BE | HEKE S E| FEammHI | e H | SO | A TERE
P 1 |[hRkEmnG e 851 (431,306 | 431,306 |[&IB{REECE 107.2.23 | 40606 107.9.14 | 74,806
876906 BN E#E1507T), 107.7.31 00| 107.9.14 | 356,500 0
J 8 T B
B S, THET700-
800 N2
107.7.128%
2 |BHERERES) 211 | 50,000 | 50,000 |&FE{AEESCE 107.2.23 107.5.17 | 50,000 0
{E R 1507T),
BEESHETH
=1500 A&
3 ([EGEER 2 1 1 {95000 | 95000 |SHEsEEEs, 107.2.23 107.10.25 | 95,000 0
REEHBEHEAR
HaE3007T, FEE T
800 A2
4 |tk F 11 | 10,000 | 10,000 |HEANFEHMmE 107.2.23 107.83 | 10,000 0
Ut
5 |FetEEhEE o1 | 12,600 | 12,600 |E&EEHT007T 107.2.23 107.12.31 | 11,200 1,400
107.7.128%
6 |EUERS4EE = | 1 | 25000 | 25000 |HENEEEGE 107.2.23 107.9.12 | 25,000 0
et
T AERES T = |1 25,000 25,000 [FEE+200-300 A £ 107.2.23 107.4.21 | 25,000 0
(AR Jii|
8 [ELEL 7t 1 40,000 40,000 | & T Ak 107.2.23 107.7.5 | 40,000 0
BRI ZR T T
M E 4014
9 |EWFABREHE | 1 15,000 15,000 | AL B EHE B 107.2.23 107.10.22 | 15,000 0
(EENEREIE
10 PRORIRAEEE] = | 1 60,000 60,000 [ZHE B, M [107.2.23 107.3.17 | 60,000 0
B THAT80-120 A
21




it EMEI A bR EESEEER G
RARI0TFEELEE T ER

08 B &L=

It

LE | [T FLE HALHE| BE | HEKE S ! FEammHI | e HE | SIS | A TR
11 |BRE |1 50,000 50,000 |24 B 107.2.23 107.11.13 | 50,000 0
12 (& BIRIEAEE 2|1 25,000 25,000 |EE BRI A 107.7.31 107.10.4 25,000 0
107.7.1288
13 |#EfE = | 1 8,000 8,000 |IRE N EHE 107.7.31 107.8.9 8,000 0
107.7.128% 5
14 [ETARAR 2|1 30,000 30,000 |EZEAEHE007T 107.7.31 107.8.29 | 30,000 0
RFERNHIAEIL007T
107.7.128%
Eat# 876,906 875,506 1,400
EAFT| 1 |[FEtsEmETE K 1 50,000 50,000 [HALRE NCEE [107.7.31 107.8.7 | 50,000 0
230500 107.7.12885 5
2 |EREREETE = 1 30,000 30,000 | N &N E 2 A 107.2.23 107.4.30 | 30,000 0
3 [FEI% = 1 80,000 80,000 | AFSER PRE A [107.7.31 107.8.7 | 80,000 0
HE 107.7.1288 5
4 |KIGEEHEE T |2 1 24,500 24,500 [EE A 107.2.23 107.6.1 | 24,500 0
2
5 EEFEEBRETE | 1 30,000 30,000 |EE N 107.9.18 107.12.6 | 30,000 0
6 [FEHIMEHERLE |& 1 16,000 16,000 [EE ¥\ 5 A 107.9.18 107.10.4 | 16,000 0
Eat 230,500 230,500 0
KHE P+ EARFIHEE 1,107,406




ZithitMENSA LR EEEE S
tE P 107 E LR (R ER

09 B &5

R [TEX IRaE| Hi|#E| HE | HEKE iR B o EHE | SERHEE | ST&E | R TR
LHEFT| 1 ([BiEesmkEEM vl 23,000 23,000 [£78E EHN6SER RS |107.2.23 107.10.13 | 23,000 0
866970 43 BN HEE3007T
2 (B R RERE |1 30,000 30,000 | BN £ B 107.2.23 107.12.9 | 30,000 0
g {E R 3007
3 B Rk R E) = | 1 [400,000 | 400,000 [&&E GORLEIR]  [107.2.23 107.9.21 | 287,500
& fHRE T, ok
MM B P, 107.9.21 | 112,500 0
HAEMEEANE
#81507CTEET400 A
20
4 [ROK Bty | 1 70,000 70,000 [ EH R 52 2E e |107.2.23 107.9.10 | 70,000 0
5 PRGRZSE |1 98,000 98,000 [ H& BE MRl 107.2.23 10742 | 60,000
L THe80 NS 107.7.8 | 38,000 0
6 |ETFHEERE) | 1 8,400 8,400 & 5&4H H7007T 107.2.23 107.12.6 | 8,400 0
aﬁ%
T |[EEIM = | 1 12,000 12,000 [\ 7515 F 107.2.23 107.7.10 | 12,000 0
8 |SRMeAEE vl ! 12,000 12,000 |5 (E 107.2.23 107.10.11 | 12,000 0
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19 KIS = 1 12,000 12,000 |E 7K 5 107.2.14 107.12.12 | 12,000 0
20 \ZREer A E = | 1 36,000 36,000 [EEHH /N BRAG LA 107.2.14 107.6.30 18,000
HHYEE e 107.12.7 18,000 0
21 kg e 1 1,000 1,000 | B ¥HHERE 107.7.31 107.8.16 1,000 0
107.6.13%88 5
=R 1,083,406 1,083,406 0
EARF 1 |l {& 1 12,000 12,000 [EE AR, IR 107.7.31 107.8.14 12,000 0
24000 BENEERE
107.6.13%%
2 |RERA = 1 12,000 12,000 (BRI R - [107.7.31 107.8.10 12,000 0
ENER
107.6.13%#
=riL 24,000 24,000 0
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it EMEI A RS EEER G

i R R B0 FEKEFHGER 17 B&E FiRE
R [TEX FHE B HE| BE | HEKE S E| FEamm HI | SR H B | ST E | R TERE
ZEFS| 1 proEigiEmee | 8| 1 | 60,000 | 60,000 [rTHEMEESEE  [107.1.31 107.2.28 | 60,000 0
928000 Rl E:,JEEhE K
ST NI TH
51600 A&
2 BRORZIK 51 90,000 90,000 |ZH& B, (rbs 107.1.31 107.5.14 | 70,000
5 FEET400 A2 107.5.30 | 20,000 0
i
3 |IBEhEE = | 1 | 100,000 100,000 |/ EE A= R 107.1.31 107.11.1 | 100,000 0
o B/ N AR R R
B
4 [HOK B HAEZR) % | 120 250 30,000 [JisRE EFEZR %S 107.1.31 107.8.1 | 30,000 0
5 |[FRKIRORERE %701 99,000 99,000 [&E &, (RinE, S 107.1.31 107.9.22 99,000 0
BhESE THET600 A
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6 [FEHE |1 20,000 20,000 |F B 107.1.31 107.12.7 | 20,000 0
7 |EFGETAREEE | | 1 99,000 99,000 |EE65SEE LA LR |107.1.31 107.10.14 | 99,000 0
BB AN
1507T
8 BHILEHEZERL |5 | 4 15,000 60,000 |EHE 81 R, B 107.1.31 107.2.10 | 15,000
E AR 1507 107.5.12 | 15,000
107.8.12 | 15,000
107.11.10 | 15,000 0
9 PafELE |1 10,000 10,000 |4fERE B P B 1L 107.1.31 107.29 | 10,000 0
HEEH
10 [FZENRE4ERE |1 20,000 20,000 |Ak 75 B B 107.1.31 107.9.27 | 20,000 0
11 B EsE | 20| 1 99,000 99,000 [E 605k L BB 1107.1.31 107.5.5 | 99,000 0
i i ) BHRE B (A
AHEE#1507T)
12 [ & TR = | 1 32,000 32,000 |3 45 T HEF) 107.1.31 107.12.24 | 32,000 0
13 &I |1 56,000 56,000 [E A& L HIAR, 107.1.31 107.2.6 | 56,000 0
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LE | [T FtE Hr|#HE| BHE | HR&E =R HH s HER | sep HEH | S8 | RETTEREH
HEANHEEI007T
AZEARHE18007T
14 & | 1 4,000 4,000 |2 B 107.1.31 107.2.7 4,000 0
15 [FRKEFRIRE S = |1 99,000 99,000 [ HNFFIRIRE |107.6.13 107.9.14 | 99,000 0
m: —rnu(ﬁﬁ/ﬁﬁ
1507T)
16 SCfesExrE"E | | 1 20,000 20,000 [ EHANACHRES |107.6.13 107.84 | 20,000 0
i B rm(BE(E R 150
JT)
17 PRIRZHR2 |1 30,000 30,000 |[ZEHEEEEREE  |107.6.13 107.6.24 | 30,000 0
EFER RN
EatE 928,000 928,000 0
BEAM| 1 EEiasEET 5 1 52,000 52,000 FEEHERH 107.1.31 107.2.12 | 52,000 0
128970 2
PALEEY AN A = 1 35,000 35,000 |5 E A 107.1.31 107.2.12 | 35,000 0
RENEE
3 [BEANSETRERT  [F 1 41,970 41,970 [ B AESEARRSSEE  107.7.31 107.12.10 | 41,970 0
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EatE 128,970 128,970 0
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LE | [T FLE Mo HE| BE | HEKE R B FEammHE | SERRHER | S&E | A TERE
ZKHEFT| 1 PREEEZIR %11 | 60,000 | 60,000 [SEEEEHEE [107.1.31 107.34 | 60,000 0
898970 e
2 PREEEENR 211 | 60,000 | 60,000 [EEEZERE [107.1.31 107.4.19 | 60,000 0
3 BRIREEZIR %1 | 50,000 | 50,000 [&EEEEHEE [107.1.31 107.7.5 | 50,000 0
4 BBRIREE RS 211 | 80,000 | 80,000 [&HEEZBEME [107.1.31 107.9.15 | 80,000 0
5 A EE A, = | 1 | 15000 | 15000 [E@EAESITS [107.1.31 107.11.19 | 10,603 4,397
AR %, E< HEH]
6 |[FPRIRIREEE 511 95,000 95,000 |HEFAREIITE  (107.1.31 107.9.24 | 95,000 0
il i (el H 22
7 PEA IR | 1 35,000 35000 |HE¥FAREBITE  |107.831 107.10.23 | 35,000 0
JRIE E EH
107.8.108% 5
8 Rt EEMEE 51 80,000 80,000 |FEFIEIFARERL  |107.1.31 107.8.18 | 80,000 0
E] ITIRRHEEE
i
9 HERES | 1| 279,800| 279,800 [EEfEESSE  |1079.18 107.11.27 | 211,876 67,924
S E S
SR iR BhEE
WA EBNEE
A 107.8.108%
10 pTHIRREEE 1 80,000| 80,000 |HEIR{EEES 107.1.31 107.2.24 | 80,000 0
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11 B |1 14,170 | 14,170 |[&EASEES 55 [107.1.31 107.6.25 | 14,170 0
LIRS Ay
12 PROREZE 2 |1 50,000 50,000 |EEMEEAE (107.831 107.10.16 | 50,000 0
#B1507T
107.8.10%%




it tMEIA bR EESEEER G
s R B I0TEEEEHAER 18 HE FES

L E | [T FLE B HE| BE | HEKE S FammHE | SERREER | & | A TERA
=L 898,970 826,649 72,321
EAM| 1 [FEI% = 1 94,000 94,000 |FRENEE 107.4.18 107.5.2 | 94,000 0
158000 107.3.198 5
2 PEESFE(ETE K 1 64,000 64,000 |HEALEFEAL 107.7.31 107.11.1 | 64,000 0
107.7.165% 5
Eat# 158,000 158,000 0
P9+ B AP IREE 1,056,970
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it EMEIA R g EEER G
T EITEREEEFHEATER 19 HR Rk

KR AR FLE HALHE| BE | HEKE S| FEawEH | e H | SO EE | A TERE
11 [[REERE H| 3 920 2,760 #EEH RITHYZ 2 [107.6.19 10788 | 2,760 0
12 |(ZEE IR 4H | 3 920 2,760 |4ERE EHIRITHYZ 2 107.6.19 107.8.8 2,760 0
=L 670,406 670,406 0
BEAM| 1 [REEREER |5 1 98,000 98,000 [HIBEL: T EEEERE  [107.1.31 107.10.4 | 98,000 0
437000 THE
2 |EfARGERET K 1 30,000 30,000 [ EH AP |107.1.31 107.10.9 | 30,000 0
=2 B
3 |LEDiEHRERZ2EE | 1 90,000 90,000 [Hb B+ EEERE  [107.1.31 107.10.1 | 90,000 0
T
4 |ErTaiEidt X 1 55,000 55,000 [H7 5511 EEE T 107.1.31 10749 | 55,000 0
T
5 [RREEE = 1 57,000 57,000 B EHEF AR AL 107.1.31 107.4.23 | 57,000 0
EARAREH
6 |[HEMKEE & 1 11,000 11,000 | B> IR ARR 107.1.31 107.6.28 | 11,000 0
T |EUEEZETIE  |Z 1 96,000 96,000 [HrEL: T EERE  |107.1.31 107.10.1 | 96,000 0
EalE 437,000 437,000 0
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R [TEX JSgE! A |HE| BE | HEKE St EDEJ FEaEEHE | SERHER | S2AT8CE | R TEREE
KEFT| 1 PBEZIRETZE) | 5| 1 | 98000 | 98,000 [&HEEBEEHSETE [107.1.31 107.4.29 | 98,000 0
911406 ﬁmo}&;&bu
2 BBRZIREE=Z) | H | 1 | 98,000 | 98,000 |[EHEHEEEHEETE  [107.1.31 107.8.26 | 98,000 0
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3 PTHETEE) 211 | 60,000 | 60,000 [&WEEESCESETE  |107.1.31 107.2.27 | 60,000 0
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4 |FRKEEE) 211 1196000 | 196,000 |[&FEEIBHETE (107131 107.9.23 | 196,000 0
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6 |RZENIRID [ |1 | 6000 6,000  |BFHE S A 107.1.31 107.3.8 6,000 0
T |(EGREERE = | 1 | 98,000 | 98,000 |[EifMAEH EEE 107.1.31 107.9.23 | 98,000 0
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E
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£
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i AH R ARE
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107.7.138%
11 |fESEEREE a3 | 4000 12,000 | H 107.2.23 107.6.26 | 12,000 0
12 |FFkETEE) = | 1 08,328 | 98,328  [FHET400 AN 107.2.23 107.9.21 | 98,328 0
13 |EFGETEEE) = | 1 99,000 99,000 [FEEFI00AZH04C  |107.2.23 | sosoo| 107.10.13 | 99,000 0
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o] B 107.2.2378%
15 |ERS4EE |1 8,000 8,000 |[AFEH 107.2.23 107.10.12 | 8,000 0
16 &EEhH0ERAR = |1 1,800 1,800 |3-12H f2F AR 107.2.23 107.12.5 | 1,800 0
HERME
17 PCE A |1 5000 5000 |[AWFSCERS 107.2.23 107.824 | 5,000 0
ATEZF(PF1065-90
TCIE FE4EET50907T)

18 [HEEPARHE & |1 450 450  MCC-7165ATH%  [107.2.23 107.6.26 450 0
A

19 |HEEES 2|1 1,620 1,620 |MCC-7165/\%5t%  1107.2.23 107.626 | 1,620 0
H

20 [HEHERIRE |1 658| 658  |MCC-7165/A%t%  [107.2.23 658
A

21 |[EL&55 |1 43,000 43,000 [EZEEGRLRE (107.2.23 107.6.30 | 43,000 0
EETEET180 A2
il

22 AR iR |1 2,700 2,700 |EREEFARK.LR |107.2.23 107.525 | 2,700 0
ENEE

23 [Elfk 5|1 1,800 1,800 |EREBEARE.R [107.2.23 107.525 | 1,800 0
BENEHE

24 ke INA R |1 60,000 | 60,000 |HAEHEZEEH (107.6.19 107.7.31 | 60,000 0
HENEEETT
107.5.21%%

25 |[RA&MER 4 |1 88,670 | 88,670 |[FAMLENIREE 107.6.19 107.11.14 | 88,670 0
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2 |[PkEREEALES) 21 150,000 | 150,000 |[&HEEEEHEHE [107.1.31 107.10.7 | 150,000 0
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3 |FRkHGErEE) B0 1 | 104500| 104,500 [&& & S 107.1.31 104,500
% 7EEHS500 N2
i
4[ROk B3R EE |1 32,200 32,200 EEEREZRZ |107.1.31 107.11.27 | 32,200 0
£
5 rE kS % 1 60,000 60,000 |&WEEE FHEEE  (107.1.31 60,000
FEET400 A 210
6 [(LEZFEEHER = | 1 | 115000 115,000 [t Ez5F2 107.3.21 115,000
ERIHIE
7 EEHESEED |1 8,250 8,250 [ AERIE[E A, T [107.3.21 107.11.1 | 8,250 0
B =504
8 |EEMHEEED 2| 1 21,760 21,760 (HANERIEEHE (107418 21,760
J&5 5. {E R E T
0 |fEMRAEE |1 3,290 3,290 | AH(HE A BEL044E (107.10.26 107.12.12 | 2,850 440
35307CfE 445
632077)107.10.98%
§107.10.26[5 5
10 [t AR %S (= B o | 1 33,470 33,470 |[EZ=A##88007C  |107.9.18 33,470
Ak K FERHME18007C
St 678,470 343,300 335,170
EARM| 1 |BERE RS = 1 17,000 17,000 et HERIREESE  |107.1.31 107.12.10 | 17,000 0
378500 R TAE =
2 K = 1 22,900 22,900 (HUEEISATER |107.1.31 22,900
D5 F
3 WEGEESEH L 2 1 13,000 13,000 [fLHE{ES 107.1.31 107.11.1 | 13,000 0
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At e bR R B R A

kR 107 EE S (R ER

22 HE Ko

&R FE BE B |%E| BHE | HEAE ST | FEEEHE | SERHEH | ST E | K TEREE
4 EFREESHEEHRT X 1 90,000 90,000 |4 H IR [107.4.18 107.11.2 | 90,000 0
2 %
5 MHEfEeERET | 1 25,000 25,000 FRELEREREZE [107.6.19 107.11.22 | 25,000 0
2 1k
6 [MEABESKE | 1 12,500 12,500 |t B R 107.6.19 107.11.24 | 12,500 0
S TR
7 E=pgEEEE | 1 11,500 11,500 |48 EH NERES 107.6.19 11,500
T2
8 [HEEEAGE | 1 98,675 98,675 |ENENEZEME  [107.7.31 107.10.22 | 98,675 0
HTE Fi
9 PEEEET TR = 1 87,925 87,925 [ttt 1k 107.9.18 107.12.17 | 87,925 0
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KEF| 1 prHanEs) %1 | 50,000 | 50,000 [&BEHEHEFL [107.1.31 107.2.28 | 50,000 0
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2 PUbstfES T 2501 | 27,040 | 27,040 |[&GHEEESE  (107.1.31 107.3.10 | 27,040 0
Dt i FEEF49600-800 A
1
3 [HESAHEREECUE | 100 250 25,000 (EEIFEA,FEETEY |107.4.17 107.6.15 | 25,000 0
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4 |HAPRE B = | 1 16,000 16,000 |4EEHNIREDE (107417 107.4.30 | 16,000 0
& A
5 PRIREEZIR 511 71,772 T2 |EEEEE MR (107417 107422 | 71,772 0
EETEETI00 A2
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TCIEFI4EET117600
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6 |[PREIRISE ol 658 658 |\ ER {5 F 107.4.17 107.6.8 658 0
T ROk 23R EE i | 108 250 27,000 [4EEERERZE (107417 107.7.20 | 27,000 0
£
8 [k B | 10 650 6,500 |48 B R JE5¢ 107.4.17 107.7.20 | 6,500 0
£
0 |FEMAEERE & 4 8,000 32,000 |RFIEANERE 107417 107.6.26 | 32,000 0
T
10 |EZefemhadE |1 35,000 35,000 |EE N 107.4.17 107.6.26 | 35,000 0
&
11 (EfGETCEEE) 51 90,000 90,000 [FHET300 A 200 107.4.17 107.10.12 | 90,000 0
12 |HEEHEE =2 4,500 9,000 [4EERRITHIZ  |107.4.17 107.6.26 | 9,000 0
e
13 [WEE SRR |1 11,250 11,250 (RN E(EATE  |107.6.19 107.7.6 | 11,250 0
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14 [BftidEEE |1 47,000 47,000 [ AEEEAEEE  107.6.19 47,000
H




e B 107TE LR (R ER
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R [TER FLE HALHE| BE | HEKE S FEEHE | SElHER | S8 E | R TEREE
15 RIS L2480 51 50,820 50,820 |&EEETH80  107.6.19 107.8.14 | 50,820 0
A&
16 |F AL i FE | 12 7,750 93,000 |V EEZER  107.6.19 107.11.12 | 93,000 0
17 |FEKETES) 5| 1 30,000 30,000 |[E5E e 2EEH  [107.6.19 107.9.22 | 30,000 0
51800 A £
18 |18 o HeEntesE | =0 | 1 30,000 30,000 [FEET800 A 210 107.6.19 30,000
19 18FFrEEZE | & | | 20,000 20,000 |FHEF300 A 2410 107.6.19 20,000
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20 [AESHEELRRHE |1 450 450 [\ TS ER A 107.7.31 107.7.31 450 0
& 107.6.265% 5
21 BRRETREK = | 1 44,416 44,416 [EZAHEHER00T  |107.7.31 107.10.17 | 44,416 0
KFEARNHHEI007T
107.6.26%5 5
EaTE 716,906 619,906 97,000
BEAF| 1 |[EFELsERET X 1 90,000 90,000 |EE N 107.4.17 107.7.10 | 90,000 0
390500 2
2 |PEETTREERS = 1 36,000 36,000 EEFE T =0 E [107.7.31 36,000
3 [FEESHEE = 1 45,000 45,000 27EERANERRES  [107.7.31 45,000
4 \pEEINFEEET =X 1 99,500 99,500 |EE N 107.7.31 107.8.14 | 99,500 0
2
5 |BEFUETRERET X 1 72,000 72,000 |2 107.7.31 107.11.1 | 72,000 0
2
6 [FEILHUER =) 1 35,500 35,500 [AFEFL SN 107.7.31 107.12.12 | 35,500 0
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R [TEX FLE Mo HE| BE | HEKE R B FEEHE | SElHER | S8 E | R TEREE
KEFT| 1 [CHREERE | 1 | 65000 | 65000 [HEAEHCEEEHTE [107.4.18 107.8.6 | 65,000 0
801406 =1400 A&
2 |FRRKETEE) 211 | 96,000 | 96,000 [&EEEGHEHE (107418 107.9.23 | 96,000 0
£+1000 A 21
3 PRRSEHZIR 871 99,000 99,000 | & &5, (IR E, 107.4.18 107.5.6 | 99,000 0
HEE FHETST0
AN
4 B EEERE = | 1 | 47,000 | 47,000 [FHENEEFR  |107.4.18 47,000
& i
5 |EREERE | 1 | 48,000 | 48,000 |E#EE - LEEE  |107.4.18 107.12.7 | 48,000 0
R (EaERn AR
BMEE)
6 [FHIOKZERE 2| 1 | 47250 | 47250 [ESEIRRESERf 107.4.18 107.7.1 | 47,250 0
EPOX Y Hirff 2% Aok Z=
7 PKERE = | 1 | 31,500 | 31,500 |EHPNEEEGELE |107.4.18 31,500
R
8 | RdEE | 1 12,600 12,600 |EE 7 & 2 107.4.18 107.6.10 | 12,600 0
0 |ENFAEDR) |1 9,500 9,500 |ft B RRFZEIH 107.4.18 107.531 | 9,500 0
10 |EEEEE = | 1 17,000 17,000 |BE(EA#E#E1E T [107.4.18 107.5.28 | 17,000 0
TEAT10E
11 ALz #E = |1 54,000 54,000 [EAAFEZERTEE (107.4.18 107.11.30 | 23,100 30,900
H o 4EE
12 PRIERAE(E | 1 96,000 96,000 |&fEM JE 5% 107.4.18 107.11.30 | 96,000 0
13 |(FEfEEsi IRE4E = | 1 47,250 47,250 |E A REfEESA4E  107.7.31 107.11.30 | 12,600 34,650
EhRsE 2 e
14 |FEMEIRALE |1 5,500 5500 |EHNERREZME  (107.7.31 107.12.12 | 5,500 0
TRl H
15 [0 |1 30,000 30,000 |EEN&EE(EFEHE [107.8.31 107.11.28 | 30,000 0
TEEF13S
16 |FRHAE | 1 12,495 12,495 |thAKER A eieer  (107.8.31 107.10.18 | 12,495 0




At e bR R B R A
EMEI07FELE S ER

24 BR EHGE

R [TER FLE Mo HE| BE | HEKE R B FEEHE | SElHER | S8 E | R TEREE
{57, BB
&7
17 | i s 5 7 3,500 24,500 B & 2 107.8.31 107.11.14 | 24,500 0
B
18 |EEE A4 an 4 |1 16,500 16,500 |EEE & 2 107.8.31 107.11.14 | 16,500 0
&
19 BT &F = | 1 42,311 42311 |fEEERGERLEE [107.9.18 42,311
REEHE1 T
Eat# 801,406 615,045 186,361
BEAFT| 1 [FHIOK B 4H 1 22,000 22,000 |AEFIEREBEL AL |107.4.18 107.5.28 | 22,000 0
306000 OK B 5
2 |EnFEik 4f 1 88,000 88,000 |fit B RS2 EIH 107.4.18 107.5.31 | 88,000 0
3 [BE M TR = 1 34,000 34,000 (FE{dEes A oM |107.4.18 107.7.1 | 34,000 0
HEFAGESE L RS 8
068 [ HI5
4 lZ=EERESD & 1 65,000 65,000 |(Ht R fEH 107.10.26 107.11.29 | 65,000 0
R 107.10.38 5
107.10.26[5 =
5 |(REEREAIRE | 1 97,000 97,000 |Ht B R fEH 107.10.26 107.11.9 | 97,000 0
o 107.10.388% &
107.10.26[7 &
Eat# 306,000 306,000 0
S - Nt 1,107,406




it tMEIA bR EESEEER G
aEI07FEEEHHFER

25 BHE 2%

Sl

FHH

A7

EH

HELSE

gt

A H

SRk H 3

SR

A
916533

BROR ZNR(ERE
£J)))

%

66,055

66,055

SHE B R
% TEEF1S0A S0
(BF1064F 239457T
{# FH451900007T)

107.1.31

107.10.25

50,454

TCH EEE

68,838

SR,

FHE TR BB
FEEE THET200 A
SN(HEL064E6162
T F4EE+90000
7T)

107.1.31

106.3.3

53,672

PRKETEE

64,853

04,853

SR, A
FoE TR G
B 20082
HI(HE1064E61627T
{5 FH 4851900007T)

107.1.31

107.9.15

55,177

SAEEETR Tt A
it

24,318

24,318

$"“ BRI

& JEEHI0A S
(13%106&54568271:

{sF 485 1700007T)

107.1.31

S LFELHR

54,000

54,000

HWETETH
k& OEEEAR
FEIHB00TT A4 A
FEHE18007T
107.7.18%8 5

107.1.31 24000
107.8.31 30000

107.10.11

22,995

FoNE 3)) 13153

30,000

30,000

EHE BETH
=30 A& 00

107.1.31

107.10.11

30,000

DR EHIR
Eb#

658

0658

AEP-0380/\ 75414
H

107.1.31

107.7.4

058

NSRRI
M=

450

450

AEP-0380/\ 1514
H

107.1.31

107.6.28

450




it tMEIA bR EESEEER G
el EI0TEEEE A ER

25 BHE 2%

Sl

FHH

A7

HE

SI=loo

b=

HELSE

RWVAY

st BH

A E S HHY

SRk H 3

SR

Sl

NP R
(E5=4

1,500

1,500

AEP-0380/\ 1514
H(GF1065E1207T
ﬁﬁﬁ,iezﬂézofn)

107.1.31

1,500

BRORE LhEE

&

9,000

9,000

BLEERL O B R

107.1.31

107.11.12

0,235

2,765

11

BERETEE)

50,000

50,000

et amEER
FE2H3007T), B E,
apn e MR E
i INE I

107.1.31

107.5.12

50,000

12

G

=

CE LRI, S

/L‘\

3,200

19,200

B RRARE S 1F
EEENERTE
TIHEF30 A2

107.1.31

107.11.25

19,200

13

a U HERE S
AATE

8,035

8,035

EAPRRZE R NE A
)i S DRI
HANEREIETS
m%ﬁ*é Hig
BZZREINSE B
%ﬁ%iaf“f\;
FEET10-20 A0
(BE1054239657T
{58 FH4EE1320000T)

107.1.31

107.6.27

8,035

14

15

A TE L EEFRER AL
RIEH)

T R s

RN

21,509

68,000

21,509 |&

68,000

B HstHE R
H R, )
WU, Bina
R IR, THET200
ASIHF1055
10491 T FI4EE
320007T)

EEL LRSS A=

HIENEPN=E il

107.1.31

107.1.31

107.11.17

107.11.1

21,509

68,000

TEREH




AL AR A L B A A A

el EI0TEEEE A ER

g
25 %E b2

Sl

FHH

A7

HE

HE

EER

S B

==
EE‘-P
A A

S
i

SRk H 3

SR

RENTTER

A

EI)lr}

Wi i e A
1930-504FACHl 5
ARSI A
ZH(HF106530000
T A, 455198000
L)

16

e L LR S S
ES T

8,000

8,000

IRFUST SR FRE S
FEIT GRS
], FH [ R 3
(HF1064-900007T
{56 /1, 4851980007T)

107.1.31

107.10.30

8,000

17

HRREN S I E
NSS4

41,965

41,965

ENflHRCa L 2
FFR N SRR S
HEETHATHARS00
F10004 452 5H
T [ 1 L
Y B R EL(PF106
HE560357T {5 F 48
£1980007T)

107.1.31

41,965

18

Spiry FHE S8

92,152

92,152

B KT+
e HH BT
SR, SR e
A, 3% 1 25 B
2 107.7.188 5

107.1.31
107.8.31

90000
2152

107.10.28

89,500

2,652

19

[ E R NS

90,000

90,000

PSS L EEE
R TR,
D4 B R RS
Fd 107.9.68F

107.9.18

90,000

20

&S TR

18,000

18,000 |74

A (LR et
EapSiIE R N CS|

107.1.31

107.10.31

17,020




AL AR A L B A A A

EUE07EEEEFE R ER

25 %E

Sl

FHH

A7

EH

HELSE

s A

HH

SRk H 3

SR

R TERER

Bt BRI T
SR E T
eSS R L
ik LRI

21

BRI

jtt

90,000

90,000

EHLR R PR
SRR

107.4.18

90,000

22

HARENEEE L B g
N

90,000

90,000

Elml R L 4
ATHET HHRR2007, 4
sTE AT ASCE
a5 ST TR
& ZNPVE by
=3 #gYHEE R
REANY) - H4EE
Ei‘)ﬁ&i?éiﬁ‘%‘
° A ARERERE
¥JJ¥ O\ Jea B B A e
» W AT ILE
BE R & AT > i
[RRSE > HEMEE
s L E o

107.4.18

107.10.15

90,000

GE

916,533

590,905

325,628

[ ZN
90000

TREERA ) A3
FiffrFan LI

=

90,000

90,000

FI FH e i
ZEpN AL A B2
T/ i

107.4.18

90,000

EEtH

90,000

90,000

Zm Fﬁ+

S IREE

1,006,533

}

EI)lr




3|y e s N AT A = g = R
AUE07FEE S ER

20 HE BEEES

R [TEX FLE Mo HE| BE | HEKE iR B o EHE | SERHE | ST | R TR
LHEFY| 1 PRERZIR 51 95,000 95,000 BRFRIFE & EE, |107.2.23 107.5.19 | 95,000 0
900370 BE R EETH
=1200 A0
2 [FFEAHBIEE 51 65,000 65,000 [FALIESFEAMHE)  (107.2.23 107.5.19 | 65,000 0
) B EWE THETEY
40 N0
3 |BELARRES £l 1 25,000 25,000 |EEIRIG 4R 107.2.23 107.12.31 | 25,000 0
4 b e B %51 90,000 90,000 |FEET4I600 A0 1107.2.23 107.6.17 | 90,000 0
5 |HPRKETEE) 51 80,000 80,000 |FPRKRE THETZY  [107.2.23 107.9.21 | 80,000 0
800 A&7
6 |[EGENEHEE 511 80,000 80,000 [FEET4Y600 A0 {107.2.23 107.10.10 | 80,000 0
R B E L E )
7 [EREEEE 871 60,000 60,000 [EJR[EUEETE  (107.2.23 107.12.5 | 60,000 0
3| 149600 A 2010
8 |EiEmERL S ol 30,000 30,000 |4EEERIR A4 107.2.23 107.12.31 | 30,000 0
O (i oK 23 % | 155 600 93,000 |[E 5 2 2 4 107.2.23 107.10.2 | 93,000 0
10 [EEE4EE | 1 8,000 8,000 | A5 {EH 107.2.23 107.8.8 8,000 0
11 |G A4 | 1 25,000 25,000 [& R EHEE 107.2.23 107.8.7 | 25,000 0
12 g |1 30,000 30,000 [ZE{E1HE 107.4.18 107.11.19 | 30,000 0
107.4.286 5
13 |[fAfeHEE] £ 20,000 20,000 | = EAEEETIR 107.4.18 107.7.30 | 20,000 0
FELHE
107.4.28%
14 |[ZUrEiiaEs) 511 60,000 60,000 [SZAEAIMEENYY  (107.2.23 107.6.28 | 60,000 0
300 A0
15 INERIAN A | 160 624 99,840 [N EREHZEE  (1074.18 107.6.15 | 99,840 0
(RN EREIE
107.4.08% 5
16 |[ffEH X |1 16,000 16,000 | B B 751 F 107.4.18 107.82 | 16,000 0
7200425 ~ 16007




3|y e s N AT A = g = R
AUE07FEE S ER

20 HE BEEES

R [TER FLE Mo HE| BE | HEKE R B o EHE | SERHE | STEE | R TR
14 1074288
17 2B fit | 1 3,530 3,530 (B3 A5 (8 A 107.4.18 107.11.19 | 3,530 0
107.4.08%
18 |ENFA&RRY 4H | 1 20,000 20,000 |EE ¥R AT A 107.4.18 107.5.25 | 20,000 0
107.4.28% 5
EatE 900,370 900,370 0
EAM| 1 WRE = 2 10,000 20,000 |ABERLRE A (107.2.23 107.82 | 20,000 0
156600 HE
2 [RiERTAEE T | 1 95,000 95,000 |4k b1t & 107.2.23 95,000
2
3 SR = 1 41,600 41,600 [ TS5 107.9.18 107.10.17 | 41,600 0
EalE 156,600 61,600 95,000
O P+ B AR FI4EE 1,056,970




(T EI07TE R (R ER

ZithtMENS A R EE S EEEE RS

271 BR REZR

R [TEX FLE B |#E| BE | HELKE L E| FammHE | e HE | & E | R TR
K| 1 prHanESH) 21 1 {50,000 | 50,000 |[fEEF300AZH0  [107.1.31 107.33 | 50,000 0
946970
2 [FRRZIRIE#F 211 {90,000 | 90,000 |fEEF200AZH0  [107.1.31 107.5.26 | 37,058 52,942
3 |FRyTE I EE) %1 1 | 40,000 | 40,000 |FEEHRALNE (107.1.31 107.8.19 | 40,000 0
5 S 4 PR A
Serh A LR
i;;%
4 |PEKETREEEEE | B | 1 | 99,000 | 99,000 [FEEF1000 A0 [107.1.31 107.9.15 | 99,000 0
il
5 PRERZIR2EIE |1 | 94442 | 94442 |FEEFSOAZN 107.1.31 107.7.15 | 94,442 0
107.5.19%%
6 (SREEiEOERE | =N [ 1 | 60,000 | 60,000 [fEHEF300AZH0  [107.1.31 107.4.1 | 60,000 0
T | sHEERGRE | 4| L 658 658  |005-KGKA#sH%  [107.1.31 107.8.3 598 60
EAC
8 |AFEHREELARME | 4 | 1 450 450  |005-KGKAF5H%  [107.1.31 107.8.1 450 0
Fi& A
9 ER{AETHIIR 150 | 600 30,000 |ERFIEBEARERL  (107.1.31 107.2.26 | 30,000 0
() TTABES EE
10 ERARE LHIAR 150 | 1,380 69,000 |ERFIEBEARERL  (107.1.31 107.2.26 | 69,000 0
(B L) TTABESEE
11 (fSEHEsE 2| 1 10,000 10,000 | F EHFARE R [107.1.31 10,000
TABESEE
12 |EFGETE T |1 30,000 30,000 |EERGAREESNE  107.1.31 107.10.19 | 30,000 0
F, BB (E R
3007T
13 FEEAER |1 30,000 30,000 |Ac & BCER4:  |107.1.31 30,000
FEMk
14 BRIREES = | 1 99,000 99,000 |E & MEE A  |107.1.31 107.9.10 | 99,000 0
#E1507T




ZithtMENS A R EE S EEEE RS
EITREIOTEEEEFHATER 27 HR RESE

LE | [T FLE HALHE| BE | iEKE L E| FEawEH | e E | &E | R TERE
15 [PEER GBS |1 50,000 50,000 [FCami RE#EREE  |107.1.31 107.3.7 | 50,000 0
FEAb
16 |[ELHRE 51 40,000 40,000 |FEETSOAZ IR [107.1.31 107.2.24 | 40,000 0
F A BRI T
NHEESEHE
17 fhawERFHE |[& 5 8,000 40,000 |EEFIEHEFABERL  (107.9.18 107.104 | 40,000 0
=<0 T AT AE
107.8.31 8550
18 (&R EEES) | 5 | 1 40,000 40,000 [FEEF300 A0 {107.6.19 107.8.20 | 40,000 0
(FF106F-607TH
FH4E51400607T)
19 FEIRITEESESE | & | 10 2,550 25,500 | AFRFTT 107.6.19 107.7.16 | 25,500 0
IR RUBE
20 [FZENER L] 1 6,160 6,160 | AN BT 107.6.19 107.10.12 | 6,160 0
NSRRI RUEE
21 |LEF & | 3 920 2,760 | YRR T 107.6.19 107.7.16 | 2,760 0
IR RUEE
22 |ibeékFE(b |1 40,000 40,000 B & ThBEGERS:  (107.6.19 107.8.20 | 40,000 0
E(k
Eati 946,970 853,968 93,002
EAFT| 1 [ERER&ERET X 1 60,000 60,000 |FL4 & 25 F 107.1.31 107.8.28 | 60,000 0
110000 2
2 PKEER AR |2 1 50,000 50,000 |4EEEEBFE  107.6.19 50,000
e BIREHRIREOR
(B£1064F:39,2007T
{6 FH4851892007T)
EaTEl 110,000 60,000 50,000
A Nt 1,056,970




(REEHITEREEE SR

ZibhEMEN R ESE S LT 8
28 HE MREE

LE | [T FLE A HE| BE [HELKE iR BH FEammHE | SERRHER | S&E | A TERE
M| 1 [ENESR4EE = | 1 | 26500 26,500 | A E S 4EE 107.2.23 107.7.10 | 26,500 0
824406
D |FEREE = | 1 | 26,000 26,000 |E A& T E 22 107.2.23 107.7.10 | 26,000 0
3 |HEKETEE) | 1| 77,926 77,926 [FEET1000 A0, (107.2.23 107.9.22 | 77,926 0
SRR EE L
BN E#E1507T),
fEANBFEE XE
% (FF1064E21574
TCiE FH4EET99500
JTC)
4 PBRERZHK = | 1 | 99000 99,000 |ZEEE B, Rl |107.2.23 99,000
B THRT200 A
1
5 %BE‘*?&E-Eﬁ = | 1 | 45000 45,000 (B8 N R 107.2.23 107.10.17 | 45,000 0
=2
6 EEIEILIQE’LE 2 1 | 95000 95,000 [EEHEMEBEE  (107.2.23 107.10.9 | 95,000 0
2 AEi#1507T, 78
=12000 A2
T |\(EEE R EEER = [ 1 | 75000 75,000 [ EEREES)  107.2.23 107.11.26 | 63,760 11,240
2 o R (106
1400 T FH4A
=H764007T (5 )
8 |ERSELHE = | 1 | 20,000 20,000 [EHEREE HAER  (107.2.23 107.9.20 | 20,000 0
HEE ] T
9 |SFEEAHBNR AR EE = | 1 | 56,500 56,500 [EZFEANHEHEI007T  (107.2.23 107.3.5 | 56,500 0
KB E18007T
10 [B2EIRE4 NS = | 1 | 14,000 14,000 [ AFEEEI#E  107.2.23 107.327 | 14,000 0
Helz
11 |HhycETEE) % | 1 | 20,000 20,000 Elﬂﬁzé.’;ﬁ%"%é/\ 107.2.23 107.8.18 | 20,000 0
AR Rt B




it tMEIA bR EESEEER G
(R0 EEE A EHEER

28 HE MEE

LE | [T FLE A |HE| BE [HEL&E R B FEammHE | SERREER | S&E | A TERE
AEIETERT1000 A
12 |EFGETHRCEEE) 21 1 | 99,480 99,480 [ EEHTHR240  |107.8.31 107.10.14 | 99,480 0
il
13 [ETHBEEESE) % | 1 | 90,000 90,000 [& TH# & kHE  |107.8.31 90,000
JE49200 A 210
14 T anES) %1 1 | 60,000 60,000 |108AFEBE LR T 107.8.31 60,000
JEE, SIS REETH
51800 A £
15 [BRORE A 2 | 1 | 20,000 20,000 (108 FIR{RIGEHRE  |107.8.31 20,000
JEH] EBTHET200 A2
i
EatE 824,406 544,166 280,240
EAFY| 1 [LEDEVERTE | 1 | 21,000 21,000 (B HIRITHYZ  |107.2.23 107.7.10 | 21,000 0
283000 E5
2 (MU TR = 1 | 80,000 80,000 [{EsE HIR{THYZ  [107.2.23 107.7.10 | 80,000 0
% (FEL054E15000
TCIEE 485195000
JC)
3 |EREARSTIE = 1 | 84,000 84,000 | A& AR (2 107.2.23 107.7.10 | 84,000 0
4 |FEMBIEEE K 1 | 98,000 98,000 |EE N 107.2.23 107.7.18 | 98,000 0
EratE 283,000 283,000 0
KHE P+ EARFIHEE 1,107,406




ZithtMENS A R EE S EEEE RS

B HHIOTFELEFHGER 20 HE =5
LE | [T FLE HALHE| BE | iEKE iR B FEaEE I | SEB HB | 2 E | RTEREE
EFT| 1 [SFEMEBREZE | | 1 | 65000 | 65000 |EE{ER#E#E18007T |107.1.31 107.7.18 | 65,000 0
725000 gl
2 [SFEAHBIHE %11 | 55000 | 55000 |[FEEF&I300AZ00  |107.1.31 107.24 | 55,000 0
3 PbEIES T [ %5 | 1 | 10,000 | 10,000 [THEFLIG00AZHD |107.3.21 107.5.26 | 10,000 0
B 107.2.48% 5
4 VEEFEEE 11 | 9,000 9,000 |(EAEZEH 107.1.31 107.6.20 | 9,000 0
5 |BHERERES) 11 | 60,000 | 60,000 [FEEF&I600AZID  |107.1.31 107.5.12 | 60,000 0
107.5.175% 5
6 [t iRE |1 | 650 6,500 |[HEBEFABRAFEEA  [107.1.31 107.12.31 | 6,500 0
T RIS = [ 1 | 9000 9,000 |HEIFABEASER  [107.1.31 107.10.31 | 9,000 0
8 |FhITE I EE) 1 1 | 60000 | 60000 [EEEFREIENZE  (107.1.31 107.8.12 | 60,000 0
A EE S
(EEEAREH1507T)
FEEF300 A 2010
9 |FFkBRE 51 70,000 70,000 [ EEMEEER  |107.1.31 107.9.15 | 70,000 0
FE#E1507T), 122,
HUaEE N\ THET
300 A2
10 PROR—HIF 51 60,000 60,000 [&H & EEETE 107.1.31 107.4.15 | 60,000 0
49240 A 2010
11 PRORZHF 51 95,000 95,000 [&H & EEEH 107.1.31 107.7.7 | 95,000 0
49120 A 2010
12 oK Z3HadE fit | 1 55,000 55,000 |4fEE B AT 272 107.1.31 107.7.19 | 55,000 0
13 (BT B4 = | 1 48,000 48,000 |EEEH IR R |107.1.31 107.5.12 | 16,000
107.8.16 | 16,000
107.12.11 | 16,000 0
14 PREERSHEE | | 1 45,000 45,000 |HEREHNIREE R |107.1.31 107.10.18 | 45,000 0
i
15 |EaEhEe a1 9,500 9,500 [EE ¥k i /N5 F 107.1.31 107.8.13 | 9,500 0
RENEE




ZithtMENS A R EE S EEEE RS

BHR FUHITFEELEEHER 29 BE R=5H
KE R PEK FHE HA|#E| BHE | HRAE s B wammEHE | sEpHIE | SO E | AR TR
e [ 1 36500] 36,500 [EFIHENERERE (107131 107.6.26 | 36,500 0
{5
17 ErEERgE | ] 1 | 1500 11,500 [ABs 107.1.31 107.820 | 11,500 0
18 B EETES |20 | 1 | 20000 20,000 [EAETERH 107.6.19 107.6.28 | 20,000 0
R SIIEEV NS 107.5.178 5
EER
SEE 725,000 725,000 0
wAM| 1 [F# & [ 1] 18000 18000 [AEEEAMEEA:  [107.131 107.11.30 | 18,000 0
281533 HE
2 |t A | 1] 86800 86800 EHAEEA (107131 107.2.24 | 86,800 0
HE
3 R TR [ | 1| 29700] 209700 [HARECHE (107131 107.323 | 29,700 0
A |EembrEdEa TR | | 1| 35200 35200 [EALEEEAEE (107731 107.12.13 | 35,200 0
107.6.2788 5
5 fEFmEIETAE [ | 1| 16700] 16,700 [4EEE RIS 107.131 10786 | 16,700 0
6 |EiHE TR £ | 1| 95133 95133 |EpEEEER 10749 107.86 | 95133 0
wENEE
SEfE 281,533 281,533 0
KE M+ EBEATHEE 1,006,533




ZithtMENS A R EE S EEEE RS
AR 10T (R ER

30 HE gk

R [TEX FHE B HE| HE | HEKE L A FammHE | e HEA | TEE | R TerE
KHEPT 1 EEITLERAR H |12%2 300 7,200 |FERFH e ek 107.1.31 107.12.31 | 7,200 0
999470 FH UL, T 1507
2 [EEDTLERAR Al 12 450 5,400 [BESR H ¥, & H 1159 107.1.31 107.12.31 | 5,400 0
T4
3 |[EERBRRZR 51 80,000 80,000 [&H & EE, (rl# 107.1.31 107.6.10 | 80,000 0
FEEF160 A 210
4 |EHRBEIR 511 70,000 70,000 [ EHE B (Rl 107.1.31 107.520 | 70,000 0
2 H i FEEF200 A 2010
5 |BILBrEEK Al 12 3,000 36,000 |f& TEANFEEERE  [107.1.31 107.12.14 | 36,000 0
HE e 2K
6 [B4ETKER it 1 97,750 97,750 |E T HIR{FE A 107.3.20 10743 | 97,750 0
it FEEF1150E*857T
107.2.278 &
T PARBE ft | 1 98,100 98,100 [ T EHE(EH 107.4.18 107.4.26 | 98,100 0
107.3.268%
8 |[RUEEE It 1 97,750 97,750 | T ERFEA 107.3.20 107.4.7 | 97,750 0
it FEEF1150%857T
107.2.278%
0 |[MEEEEE G| 8,000 8,000 R NHIEELEE R [107.1.31 8,000
s NI
10 |sERkHGEr [N 80,000 80,000 [& 51 Ee B BhER, 107.6.19 107.9.21 | 80,000 0
Bk B B (A
B 1507T), T1E
N EFEE TE
800 A1
107.6.1 85
11 [EIAR(E®) a8l 2 425 850 | EEL ¥ U\ Joi (58 i 107.2.23 107.3.9 850 0
12 [FENSRGEEYy | #H | 3 535 1,605 | B H o\ o (50 107.2.23 107.3.9 1,605 0
4%k
13 |[EIEAH(EE i | # 1.5 15,000 |EIR AR ATER  107.2.23 107.3.7 | 15,000 0




ZithtMENS A R EE S EEEE RS
AR 10T (R ER

30 HE gk

LE | [T FHE B HE| HE | HEKE L ! FammH | e EE | T E&E | R TERE

14 MRS 4E4R |1 24,000 24,000 | TR IEIEE  [107.2.23 107.3.19 | 24,000 0
=HALR IR E
ANEH

15 [&:321E = | 1 18,000 18,000 | TAEMEAEFIRIE  [107.2.23 107.321 | 18,000 0
4FEAb

16 |EFSAHBARC M |1 4,779 4,719 [EERSTEE LR 107.3.20 107420 | 4,779 0
S R B

17 |t |1 14,800 14,800 24H, A\ F5{H FH 107.4.18 107.54 | 14,800 0
107.3.268% 5

18 |ELiThE = 4,500 4,500 |AFSEEHLRE A 107.4.18 107430 | 4,500 0
£ 107.3.268%

19 (R T(E#EKE = | 1 2,800 2,300 EENHOKEHE [107.6.19 107.6.25 | 2,800 0
20 PRk B3GR ¥ | 91 260 23,660 | E3kEE 1 B 18452188 |107.6.19 107.6.26 | 23,660 0
SR HE Rk gE
21 |HERS 5 | 50 130 6,500 | A B PETEBEH  107.6.19 107.626 | 6,500 0
22 | ATEIHRE N |1 1,450 1,450 | A PR 107.7.31 107.7.31 1,450 0

(BREEk="¢ (FF10642007T {5 FH
48=116507T)
23 | T EE Mg = | 1 12,000 12,000 B PAEIH] 107.7.31 107.8.10 | 12,000 0
&E1b
24 |[FR 5| 12 1,800 21,600 |[PRE N E A 107.7.31 107.10.29 | 21,600 0
25 |I07T4EEGHETE | 5 | 1 38,000 38,000 [ BEETHT A2 (107731 107.10.17 | 38,000 0
il 0 (BF10652600007T
44=1980007T)
107.7.28
26 | |1 20,000 20,000 |4EE H N IRIEA A [107.9.18 20,000
27 |108FEHE A |30 150 4,500 [FEHE E R fER 107.10.26 4,500
107.10.5%% 5
28 |108FEH 8 A1 30 100 3,000 [FRHEEERMEH 107.10.26 107.12.12 | 3,000 0
107.10.5%%




ZithtMENS A R EE S EEEE RS
AR 10T (R ER

30 HE gk

LE | [T FHE B HE| HE | HEKE L ! FammH | e EE | T E&E | R TERE
29 |EFIEHRIR |1 60,000 60,000 |[ZHEEEEREE  |107.10.26 107.12.21 | 60,000 0
2k LIEET160 A2
107.10.5%%
30 |108FFEHEZ | & | 1 32,361 32,361 |BJEEEEEEE)  |107.10.26 32,361
B {#HH 107.10.58 5
31 [HEELEDE @ | 275 160 44,000 [EENHEAEZE  [107.10.26 107.11.28 | 44,000 0
HEAA#E A 107.10.5%%
32 R LZEEEH A = | 1 16,000 16,000 |[FEET2fi{& C4K%Z  [107.10.26 107.11.22 | 16,000 0
HeHA AEr b 22 HEEA
107.10.5%%
33 108 e EsEy | =0 | 1 28,185 28,185 MR AT B [107.10.26 28,185
yEE 107.10.5%88 8
34 [IEFR4AR |1 830 830 | /A5 107.10.26 107.10.31 830 0
EaTE 978,670 885,624 93,046
BEAM| 1 [EEEHREIE |3 1 40,000 40,000 (e &EIE2.0%5&5E  [107.1.31 107.2.7 | 40,000 0
78300 R ST ETH
2 PEEGATEIE K 1 17,500 17,500 it &E082.0%&E  [107.1.31 107.2.5 | 17,500 0
WS4 K 7 AT
s R T AR
3 [tk = 1 20,300 20,800 | A HEEEEIFEA |107.10.26 107.10.31 | 19,900 900
107.10.5%5 5
Eat 78,300 77,400 900
A Nt 1,056,970




ZithitMENSA LR EEEE S

ZINBEI0TFEELEFHGER 31 2HE BHAD
R [TEX IRaE| Mo HE| BE | HEKE L A EHE | SEp HER | S8 | R TEREE
LEF| 1 |BIEER = [ 1 | 30,000 | 30,000 [ETHZEAE 107.1.31 107.6.30 | 15,000
846970 B4, 51074824 107.11.30 | 15,000 0
Z11H,5H3000
TC
2 |[IEREHEEE £ 1| 1,620 1,620 |[AHHEE115-TIP 107.1.31 107.5.1 1,620 0
{5
3 [EE = | 1 | 70,000 | 70,000 |EEPAEENFE,E 107.1.31 07.9.16 | 70,000 0
B R 1507
4 |EH = | 1 | 28,025 | 28,025 |FHE4EEI60A 107.1.31 107.6.7 | 28,025 0
Jii|
5 [EAVEEDM = | 1 | 3,000 3,000 |[HARIESHH 107.1.31 107.2.10 | 3,000 0
i
6 PRERZIE | 1 | 150,000 | 150,000 |[&HEEEE HEE  [107.1.31 107.8.27 | 150,000 0
S FHE TS EL
HEZ
7 PTHETEE) = | 1 | 40,000 | 40,000 [FESEFEEITEET 107.1.31 107.2.25 | 40,000 0
600 A1
8 |E&ELEL k] 60 | 550 33,000 [HAEETLH 107.2.23 107.4.30 | 33,000 0
9 [E bk E %11 | 9,500 0,500  [FZEMHEERECc224e R (107.3.21 107.4.17 | 9,500 0
10 |EE bt [H =01 | 9,500 0,500  [FZEMHEERECc224eR]  107.3.21 107.4.17 | 9,500 0
11 4L bt [ 11| 9,500 0,500  |FZEHEER 224 107.3.21 107.4.17 | 9,500 0
12 | B b5 [ 11| 9,500 0,500  [BZEIHEEE 224 107.3.21 107.4.17 | 9,500 0
13 [FZ87 oK 23t & [ 1 | 39,560 | 39,560 [k Bt 107.4.18 107.7.11 | 39,560 0
eag (20P)
14 | AT E R E |1 658 658  |AT5HEEL115-TIP 107.4.18 107.5.3 658 0
{5
15 [ ATEHEEERRHER x| 1 450 450 |ANHEH%EL]15-TIP 107.4.18 107.6.26 450 0
Fi#& {1 F
16 WA 20| 1 90,000 | 90,000 |EA{EAHEEHEISOC  [107.4.18 107.7.17 | 90,000 0
17 [ekitd | 1 | 60,000 | 60,000 [EfEAHE#EISOT  |107.4.18 107.8.15 | 60,000 0




ZithitMENSA LR EEEE S

ZINEI0TEEEEFERGER 31 B A
SR PAX HHE B |%E HE | mELH B HH FAmIE A | Sepk HH | SEEE | R EREE
18 [BREMSLEG | % 1| 16000] 16,000 [FEEHAESOOAZID  [107.4.18 10755 | 16,000 0
RERETEE)
19 |FITERED) 2% 1| 56000| 56,000 fC&RMGHHEERE (107619 107.8.18 | 56,000 0
BT HES
TEST600 A 201
20 ERERZIR2 2 | 1| 90,000] 90,000 [ZEH&E &EE ME  [107.6.19 107.7.31 | 90,000 0
= E R
2
21 |HAATEERE | | 1 | 49,000 49,000 |4 EH A ER R 107.6.19 107.9.21 | 49,000 0
22 Rk EEE 2| 1| 27657 27,657 [BEEETETS00A  |107.7.31 107.9.16 | 27,657 0
201077128850
23 |{HE a1 5,000 5000 [ABEERAREA:  |107.7.31 107.8.16 | 5,000 0
HE 107.7.128%F
107.7.31[E &
24 | BB E |2 9,500 19,000 |[AF5fEA 107.7.12 [107.7.31 107.8.13 | 19,000 0
=Gk 846,970 846,970 0
EAPT| 1 BRSNS 20 | 1 | 85000 | 85000 |EA 107.3.21 107.7.23 | 85,000 0
210000 f2
2 [KBBgEMERE T | | 1 ] 35000 | 35000 |EA 107.6.19 107.7.13 | 35,000 0
2
3 |EEfESRAHhER T U | 1 ] 90,000 | 90,000 |EPA 107.7.31 107.12.4 | 90,000 0
2
=L 210,000 210,000 0
E M EAT AR 1,056,970




=3l e w N E ARG A | S g = g
IR I07TFEEE R HEER

32 B EY

R [TEX FLE Mo HE| BE | HEKE iR HH g HI | e | S8 | R TERE
LEM 1 prEETES) %1 | 50000 | 50,000 [&/IMEESESE [107.1.31 107.3.2 | 30,378 19,622
905660 FEZF500-600 A 22
i
2 [HOK BsHALE = | 1 80,000 80,000 [FEFFE A ERZ 107.1.31 107.11.29 | 80,000 0
£
3 |EASRE 2|1 6,300 6,300 | B B R (E FH 107.2.23 6,300
4 BRREEZRIE | & | 1 99,000 99,000 | HE &E Rl [107.2.23 107.7.22 | 99,000 0
ics EEFE200A2
piji
S EBEEE R | £ 1 | 150,000 150,000 |[&EEEE, [ [107.2.23 107.6.4 | 150,000 0
ics EEFHF120 A2
piji
6 |/CRLLTHEEE | 1 50,000 50,000 |4EEEHNEREEE  (107.2.23 107.6.24 | 50,000 0
BUEE B
T PKEBEALEE = | 1 40,000 40,000 |4fERE EH IR A 107.2.23 107.6.26 | 40,000 0
B
LN = | 1 9,000 9,000 [BHA B3R (i 107.2.23 107.3.15 | 8,988 12
FLRE NEE
9 [EIERR AR | =0 | 1 27,000 27,000 | R AR, & (107.2.23 107.5.31 | 27,000 0
UIREER AL
10 AR IREYE = ) 1,620 3,240 | AT5HEE621-HRV  {107.2.23 107.9.7 3,240 0
& KMCK-7676
11 | ABSHEERARHE a1 2 658 1,316 A #51#%H621-HRV  (107.2.23 107.7.31 900 416
Fi# KMCK-7676
12 AR SEHE = ) 450 000 | AFHEH621-HRV  [107.2.23 107.3.29 900 0
(BRG KMCK-7676
13 AR EtstdEfst |1 50,000 50,000 [FEFFILIER A EET T 107.7.31 107.10.16 | 50,000 0
(274
14 [FZH oK 3 lEE %120 600 12,000 [FEFH B HBRZE 107.7.31 107.11.29 | 12,000 0
e




=3l e w N E ARG A | S g = g
IR I07TFEEE R HEER

32 B EY

LE | [T FLE HALHE| BE | HEKE iR HH g HI | e | S8 | R TERE
15 |[EGEET) = | 1 99,000 99,000 [ B N REE 107.9.18 107.10.23 | 76,335 22,665
o im, B E A A
3007¢
16 |E IR KA | 1 30,000 30,000 | £ B AR 75 15 FH 107.9.18 30,000
17 |EiE 2R | 1 5,000 5,000 | B B AR A5 FH 107.9.18 5,000
18 |EHABFEE |1 60,000 60,000 [FEA-EAEREEZE  107.10.26 60,000
107.10.5%%
19 108 HEmESE | =0 | 1 | 132,904 132,904 [&/NMEESE%E  (107.10.26 132,904
FEEFS00-600 A 2010
107.10.55% 5
Eat 905,660 628,741 276,919
- ZNg| 0 0
0
EatE 0 0
A - Nt 905,660




= REI07FEEEEHEFER

At e bR R B R A

33 HE FEH

R [TEX FLE AL HE | HELE S E| FamEmHE | e HB | A E | A TERE
R 1 [HERANEREbRE = 250,000 | 250,000 |HEIB{EECRES 107.4.18 107.5.12 | 62,036
611249 JERIR AR, & 107.10.1 | 187,964
HEREEH
200 A&
(BF1064E579647T(H
FH4E213079647T)
2 POk EsagE = | 1 | 60000 | 60,000 [HEHA 107.4.18 107.12.12 | 60,000 0
3 |E SR &b = ! 658 658  |AHSEADV-7188 107.4.18 107.7.2 658 0
4 HEEPRRHE FHE = 450 450  |AFEEADV-7188 107.4.18 107.7.5 450 0
S AN i D | 1 | 6000 6,000 |EN=JE 107.4.18 107.921 | 6,000 0
6 PRIREE M L] 1 | 97500 | 97,500 |EEfEA#EE#EISOTC  [107.4.18 107.9.17 | 97,500 0
(BF1064£16207T
{8 FH4E51991207T)
7 [CEHAM it 5,000 5,000 | EE A EEL {5 A 107.4.18 107.6.4 5,000
8 PROVGHE) = 47,141 47,141 PREREZIEE) 107.4.18 107.9.21 | 14,680
107.10.1 | 32,461
9 |FEIANERR fit 90,000 90,000 |EZEA#E#E8007C  [107.4.18 107.7.5 | 90,000
g+ K FERHHE18007C
10 |EERSFE4EE = 18,000 18,000 [EE ¥R By B AR 107.4.18 107.12.7 | 18,000
5 EERS
11 | PRt RE JEE 8,000 24,000 [EE N 107.4.18 107.11.28 | 24,000
12 [{fEEas = 12,500 12,500 |[fEEHEE2G .54 107.6.19 107.7.3 | 12,500
BN HEEET
107.5.315% 5
=EAL 611,249 611,249
BEAM| 1 [BFEETE = 99,900 99,900 |EE NS [T 107.4.18 107.10.12 | 99,900
395284
2 | 4 18,000 18,000 |5 AR 107.4.18 107.5.14 | 18,000
3 [T E = 85,000 85,000 | BRI 107.4.18 107.5.18 | 85,000
4 |FE = 65,584 65,584 | By RIS 107.4.18 107.5.18 | 65,584




At e bR R B R A

= REI07FEEEEHEFER

33 HE FEH

K&l PHK = Hr|#HE| BHE | HRE&E &t B wams HI | e HE | A& | R TaREE
5 (B = 1 52,000 52,000 | By AR 107.4.18 107.5.31 52,000 0
6 |[FERCAVEERY = 1 37,000 37,000 | By AR 107.4.18 107.5.31 37,000 0
T K BEREEE = 1 37,800 37,800 24 107.4.18 107.12.10 | 37,800 0
TiE
=ri 395,284 395,284 0
KE P+ EARPTHRE 1,006,533




it tMEI A s EEER G
FHEE 0TS B FHHEIER 34 HR HRE

R PHX FHH Bir|%E| BE | HEEE st B FaEE I | sep HI | SETEEER | R TEREE

KerPq |l 1 DU ED 51 28,000 28,000 [&TEMH, & &N 107.1.31 107.2.28 28,000 0
1003970 EENEEIR )
RS EE

2 PRIRZIR 5 1 95,000 95,000 |2 HE Rl 2E  (107.1.31 107.4.15 | 95,000 0
SRS 2 THET240
A0

3 |BERER 51 45,000 45,000 [N, E & in(BE  (107.1.31 107.4.28 | 45,000 0
{E-AEE#1507T)
B R

4 [BEFETER 31 | 98,000 98,000 [SEML EESEE  [107.3.21 107.6.9 | 98,000 0
fEA i 1507T)
S HEH
107.3.285 5

5 PERRZIR2 g1 95,000 95,000 |[ZHE R, EE  |107.1.31 107.6.30 | 95,000 0
RS 25 THET240
Nl

6 [BEEIEEE |5 | 1 | 79000] 79,000 [EIEH, F2E (107321 107.823 | 79,000 0
)] EAEH1507T)
B
107,328

7 |HRkER 2| 1 | 200,000 200,000 |ZE,E&m(E (107.1.31 107.9.15 | 200,000 0
B EEE1507T)
B F R H

8 |EFHHT 5| 1 98,000 98,000 | =R, E& (B |107.3.21 107.10.11 | 98,000 0
{EH R #E3E1507T)
ST EEE H
107.3.285 5

9 PRIRZIK3 5| 1 95,000 05,000 [Z &, prbw, &%  (107.1.31 107.8.26 | 95,000 0
e 3, THET240
AZ




B 107 e B (IR TR

At e bR e B R A

34 Hi HRE

LE | [T FLE HALHE| BE | HEKE iR HH FaaEHE | SeRkHEA | 2T | R TEREE
10 [ETHIAR ft ] 1 24,000 24,000 [&ANEAVFEZE 107.7.31 107.8.13 | 24,000 0
RAMEI00TTAE
B 18007T
107.7.488 5
11 | =R EE |1 16,800 16,800 | EUE ZRUEE 107.1.31 107.12.7 | 16,800 0
Fa®&H7007T
12 oK 23 EE |1 42,000 42,000 |4fEE B NHBRZE 107.1.31 107.11.2 | 42,000 0
E5

13 |[[HEMAEE | 1 1,000 1,000 RS L 058 (107.4.18 107.7.6 1,000 0
Fy RS 2 X BE

14 |EZEIMERRY = | 1 2,500 2,500 (058 By EAR TS 107.4.18 107.7.6 2,500 0
BHE

15 (EFREELEE |1 11,370 11,370 |\ F5 EE S =R 107.6.19 107.12.13 | 11,370 0
{#H107.5.318 5

16 |ELERE =2 3,500 7,000 |43 H RATHYZ 107.6.19 107.12.13 | 7,000 0
E5

17 |ENZ=t4% a1 7,500 7,500 (058 By EEAR TS =~ 107.10.26 107.12.12 | 7,500 0
AE107.10.88%8 5

18 | FHEE a1 1,500 1,500 {058 Ay ERARTS 107.9.18 107.11.12 | 1,500 0
BHE

19 |EEHELRD |1 2,500 2,500 [ Ay B AR TS 107.9.18 107.11.6 | 2,500 0
URE

20 |2RIEEES @ | 1 1,500 1,500 {058 Ay ERARTS 107.9.18 107.10.31 | 1,500 0
BHE

21 [CH |1 8,000 8,000 (/158 Ay R AR 2 107.9.18 107.11.15 | 8,000 0
WURE

22 |f@17EED 51 42,020 2,020 [ZHEE (Rl &E  (107.9.18 107.11.7 | 42,020 0
ST FETHETAY
240 N0

23 [ @] 1 1,280 1,280 |fm58 By RIS 2 107.10.26 107.12.1 | 1,280 0




At e bR e B R A
BHEEI07TEEEHRHHETER 34 EE R

&l PHK = Hr|®HeE| HE | HE&E S wmimHE | SRk | S EEE | R TR
AL 107.10.888 51
24 |BERH a1 2 1,000 2,000 (058 A RIS 2 107.10.26 107.11.27 2,000 0
KEE 107.10.988 5
= 1,003,970 1,003,970 0
EARF| 1 |1 = 1 14,200 14,200 |fRE B E 107.1.31 107.9.19 14,200 0
53000
2 RS TR = 1 38,800 38,800 |4sE B RATHYZ 107.1.31 35000 107.12.13 | 38,800 0
4 107.9.58% 107.9.18 3800
=riL 53,000 53,000 0
LEF+EARTTHEE 1,056,970




it EMEI A RS EEER G
Fd B 107 ERE B (I TR

35 HE MOGE

R [TEX FHE A |HE| BE | HEKE iR HH A HI | sep HER | SO 88 | R TEREA
KEFT| 1 [FEHILEE G | 12,000 12,000 | Bs ER AR5 107.1.31 107.4.13 | 3,000
882970 107.6.30 | 3,000
107.10.9 | 3,000 3,000
2 [BREE = | 4 5,500 22,000 | By BT 107.1.31 107.3.9 | 22,000 0
3 |R2ENAR | 1 2,300 2,800 |5y SRR 107.1.31 107.3.16 | 2,800 0
4 |FEKE 4| 2 6,615 13,230 | By ER AR 107.1.31 107.4.17 | 13,230 0
5 PREEILKE | 1 | 12000 | 12,000 [BENEBEETH 107.1.31 107.12.9 | 12,000 0
6 | ATFIERE LN G| 450 450 [877-BGU A 514 107.1.31 107.7.11 450 0
& GG
(AN E ol 658 658 [877-BCGU A T 1% 107.1.31 107.11.9 658 0
A
8 PRIRZIK = | 1 | 200,000 200,000 [FEE MG, & 107.1.31 107.3.17 | 100,000
IRk HEBREE 107.84 | 100,000 0
49240 A1
9 |MiE & EEE) |1 10,000 10,000 | & P28 =7 107.4.18 107.529 | 10,000 0
107.4.286 5
10 |HZ ] 8 6,000 43,000 | B N ERFR S A 107.2.23 107.3.6 | 48,000 0
RENEE
11 R R e = | 1 | 12000 | 12,000 [FEEEEHLISOA 107.2.23 107.11.7 | 12,000 0
il S &R EE
12 |tk e = | 1 | 24,000 | 24,000 [HE3E 107.3.21 107.5.10 | 24,000 0
13 | A S TER A | 1 | 26825 | 26825 |[& B 107.3.21 107.4.16 | 6,825 20,000
S E4EE
14 |EBHETSE) 211 | 35000 | 35000 [&FRbETAEAE (107418 107.5.5 | 35,000 0
(=SR-S
=1400 A&
107.4.28%
15 BB EST/E 2 | 1 [110,000 | 110,000 |FEEHIREE2EESE  (107.6.19 107.7.20 | 110,000 0
1) Sk, & Prba, B0k
JEELFEEEAR




BT ARSI A (LR [E] a5 4K

T B 1 O7AE AR B (I TR

SG=$liiE = by

35 HE MOGE

LE | [T FHE A HE| BE | HEKE iR HH A A | sep HEA | 288 | R TEREA
i 15070) F EsT
800 A2
16 |HhRKEEATG & B0 1 (250,300 | 250,300 |&frkE - TA/EA 107.7.31 107.9.15 | 250,300 0
BEEE THE4Y
500 A&
107.7.168 &
17 |EFGERES) |1 66,000 66,000 [FEET300 A 200 107.8.31 107.10.1 | 66,000 0
107.8.178%
18 |&%& LHIR | 1 | 16250 | 16250 |[EZEARHEMES0;T  107.7.31 107.8.31 | 16,250 0
KEARE#E18007T
107.7.168%
19 |[EFE 285 | 1| 21457 | 21457 |[BBEHEE 107.7.31 21,457
107.7.16% &
EaTE 882,970 838,513 44,457
- ZNE ! ﬂizOKaaH“ﬁ: = 1 27,000 27,000 |IRE NE & 107.1.31 107.3.9 | 27,000 0
174000 ME (BF1054£420007T
{8 FH44=1690007T)
2 |[ETFRERAE TR 1 59,000 59,000 A EHEEMH  (107.7.31 59,000
3 RREASH = 1 68,000 68,000 |EENENE 2 (107.7.31 107.9.12 | 68,000 0
4 |GEFEETAE = 1 20,000 20,000 |2 N&EEAL 107.7.31 107.9.5 | 20,000 0
ST EY 174,000 115,000 59,000
S N 1,056,970




ZithtMEIS A RS EEEE RS
REEI07FEE T ER

36 H&E VTR

R [TEX FLE Mo HE| BE | HEKE iR B FammH | e HEA | S0&E | RadTeRE
KEFT| 1 [EBRZR £ 1 (200,000 | 200,000 [&BE (Eint, 107.3.21 sl 107.63 | 100,000 100,000
843533 HEETEF280A  [107.9.18 | 30000
EJill
107.9.188 5
2 [mArEREE) = | 1 | 80,000 | 80,000 |[&BEZETEZFS00 [107.3.21 107.6.16 | 80,000 0
NS
3 |(EGACESE) | 1 90,000 | 90,000 [&fEMIZEFEESE  (107.3.21 107.11.7 | 90,000 0
FEEFS00A 2241
4 |ETFFHMEHED 11 | 25200 | 25200 |E&EEHT0T 107.3.21 107.12.31 | 25,200 0
EX= 700¥12H*3&
5 |t E R b = | 1 658 658  [210-CYMAF51% 107.3.21 107.5.31 658 0
EXCI
6 |[ATSHEEERRHE £l 450 450 [210-CYMA TS 107.3.21 107.7.2 450 0
% H
T DTSR |1 | 1,620 1,620 [210-CYM/AHsH& 107.3.21 107925 | 1,620 0
EXCI
8 PFRIRZIEK2 21 1 | 100,000 100,000 [&&E (g, 107.3.21 107.7.7 | 100,000 0
EN-ESEE RN
20
9 PR{RE T | 1 90,000 90,000 |EEfE A #E#E 1507 |107.4.18 90,000
10 [FZE/HhRAS [ Y1 3,500 3,500 | A5 {EH 107.4.18 107.10.22 | 3,500 0
11 [EEHRS Y1 1,200 1,200 | A 75 {5 FH 107.4.18 107.10.22 | 1,200 0
12 [fra=g#s 5|6 1,900 11,400 | A F5 (5 A 107.4.18 107.620 | 11,400 0
13 |G 5 | 50 245 12,250 |/ H5 (5 107.4.18 107.620 | 12,250 0
14 PREREE M2 = | 1 94,755 04,755 |EEfE A #E#81500C  [107.9.18 94,755
107.9.18%
15 PRORSE TR |1 70,000 70,000 |EZFEARHEHEI000C  [107.9.18 70,000
KRB #E18007C
107.9.188
16 |k #3885 50T | 1 62,500 62,500 |4EEHREZRZ 107.9.18 62,500




ZithtMEIS A RS EEEE RS

REEI07FEE T ER

36 H&E VTR

LE | [T FLE B AL HE | HELKE R HH FEamm HI | SR H B | ST E | R TERE
4 107.9.188 5
=EIL 843,533 426,278 417,255
EAM| 1 [BETHSMfE & 68,000 68,000 |RE N HE & 107.3.21 107.8.20 | 68,000 0
163000 1
2 BREEHERTE | 95,000 95,000 [ KtEARE R KHE  [107.3.21 107.10.18 | 95,000 0
25N E]
EatE 163,000 163,000 0
K P+ EARFIHEE 1,006,533




it EMEIA RS EEER G
Rk E107FEE R HETER

37 B FpnE

Sl

FHH

FAr

BE

B (H

HELE

st B

A A H

SERK 3

SR

REITEREH

EH
1006533

B ZR(EAF)

%

180,000

180,000

SR A IR
B F T
240 A2

107.2.23

107.3.17

180,000

0

BRI H4)

180,000

180,000

EENE S &8
b BT
240 A2

107.2.23

107.5.19

180,000

Ui F BTG )

90,000

90,000

S AR, A L
PRS00 2
Jili

107.2.23

107.6.9

90,000

Gl Ll

==
B

16,800

16,800

FE/HT007T
L 3ién]

107.2.23

107.12.7

16,800

TOK B A EE

35,000

35,000

R H TR

LE

107.2.23

107.8.11

35,000

50,000

50,000

SR E A Ah(E
{HAEE#E1507T
)FHEFS00A 11

107.2.23

107.8.19

50,000

FRKETEE

169,000

169,000

SEAE EL(E
ERAE 1507
FEEF800 A 21

107.2.23

107.9.15

169,000

EFSETEE)

125,000

125,000

SEAEE MR
{EAEE#1507T)

FEHHEFS00A 20

107.2.23

107.8.13

125,000

(T T/EE

99,000

99,000

SFAEE MR
B 1507T
)FHET300 A 20

107.2.23

107.4.1

99,000

10

T EE

61,733

61,733

SR E (B
{EAEE#E1507T
)FHEF200 A 210

107.2.23

107.5.13

61,733

=L

1,006,533

1,006,533




Rk E107FEE R HETER

it EMEIA RS EEER G

37 B FpnE

R AKX FHH B\ #E| BHE | HEE i A mE O | Sepk OB | SAT a8 | AT aRER
[ ZNi 0 0
0
=L 0 0
O P E AT IREL 1,006,533




At e bR R B R A
REEI0TFEEEEHHER

38 H& BEE

LE | [T FHE AL | HE | EE THER K S E| FEaommHE | SERHB | A E | A TERE
mare| 1 | HENE = | 1 46,000 46,000 [F&T1 Ay R AR 107.2.23 107.11.6 | 46,000 0
1006533
2 BRIRZ B 11 | 120,000 120,000 e EHREES (107.2.23 107.7.15 | 72,953 47,047
HE M5, P,
BEEWHE00A
2
3 |HEEEHEETE g1 15,000 15,000 [l A EHEJEENS  |107.2.23 107.12.3 | 15,000 0
7 PRI &
4 |tk RE =NEE 7,300 36,500 [JI5RECS H & 107.2.23 107.7.1 | 36,500 0
5 |FrtsriEhEE o | 36,000 36,000 |FE=H/EENT00  107.2.23 107.12.31 | 36,000 0
JC
6 |EifiasdE(Z G| 76,000 76,000 [BEfR A& dEE 52 107.2.23 107.7.1 | 76,000 0
HEHAEZ
7 | EEEFIE 41 3,500 3,500 [FeTt By R AR 107.2.23 107.3.9 3,500 0
8 |I8FEEFEEEE) | 5 | 1 5,000 5,000 [BrEE E R A5RH 107.2.23 5,000
9 | B R ol 658 658 |[Fert Ay A%, 2 [107.2.23 107.11.8 658 0
1% E520-CLD
10 [ AFSHEEARHE ol 450 450 [t R AR, 2 [107.2.23 107.7.3 450 0
& 5% E520-CLD
11 [BOK Zs#aiy it | 1 55,000 55,000 |FEFt Ay B ASS 107.2.23 107.9.21 | 55,000 0
12 |[FtasE/KE 4|1 7,000 7,000 [FEF By B AR S 107.2.23 107.10.16 | 7,000 0
13 [t e R 4H | 1 1,980 1,980 [F2Ft By ESHR TS 107.2.23 107.9.10 | 1,980 0
14 075w e | = | 1 50,000 50,000 [EEfEANEEAE3000T  107.2.23 107.6.5 | 50,000 0
H A T
15 |1084FEImAFEREafE | =0 | 1 | 120,945| 120,945 [BE(ER#EM#E150T  [107.8.31 120,945
H A
16 Bk %1 1 | 200,000 200,000 |FHEEREES  (107.831 200,000
HE M5 PR,
BEEWHE200A
21




At e bR R B R A

REEI0TFEEEEHHER

38 H& BEE

KE R AR FFE i | |HE  |HEKE i A FammH | e HEA | STIEE | R TERA
17 N08F CHEREE | 35 | 1 | 200,000| 200,000 (B E RIEH 107.8.31 200,000
18 |FrdE i ains A |1 15,000 15,000 |58 ECS 5 107.8.31 15,000
19 |EWERE =R 3,500 17,500 [FeFt By R ARTS 107.8.31 107.12.13 | 17,500 0
P 1,006,533 418,541 587,992
¥ N 0 0
0
=L 0 0
I+ EAFT4EE 1,006,533




it tMEI A bR EECEEEE G

B % RABI0TFELEFHGESRE 39 BHE Hﬁé GBS
R [TEX FHE HAL|HE| BE | HEKE iR BH FEaEHE | SERHEE | ST48E | A TR
LEFI| 1 |PRCEEELEE) = | 1 90,000 | 90,000 |-FEKEIENESNE 107.1.31 107.9.15 | 90,000 0
525533 KRR EE)
BB THET600 A
2 [EILWEEE) 51 90,000 90,000 |EEHE&EE R (107.1.31 107.9.9 | 90,000 0
B ETHAT80 A
3 |FEMEIRSTA | 8 | 5 | 8,000 40,000 |BSEEHR 107.1.31 107.7.1 | 40,000 0
&t
4 (EHRHESEE |1 90,000 | 90,000 |HEHHRZCHEEGE  |107.1.31 107.4.29 | 90,000 0
JEENTEET400 A2
i}
5 PEEpEEEAR | K| 1 30,000| 30,000 |EANEEELEFEAL 107.8.31 107.11.5 | 30,000 0
107.7.288 &
6 |EEREEHER = | 1 90,000 | 90,000 |¥iE B EREERAEE  (107.1.31 107.12.16 | 90,000 0
JEENTEET400 A2
i}
7 PrEEEE) = | 1 35,533| 35,533 |108FE CHEmEE  (107.8.31 35,533
107.7.288% &
8 |[FARBHECEE) |1 60,000 | 60,000 |HEARAKBECEE] |107.8.31 60,000
107.7.288 &
Eati 525,533 430,000 95,533
BEAM| 1 BELTE = 1 30,000 30,000 [&RFEAEREE REAR [107.1.31 107.6.19 | 30,000 0
481000 R EE
2 [BFEGERERT | 1 20,000 20,000 |REEEIEEFL (107.1.31 107.3.13 | 20,000 0
2
3 |EEAmERET X 1 37,000 37,000 [P5SE M EAMEFE [107.1.31 107.7.1 | 37,000 0
2 HH
4 |EFERE TAZ = 1 30,000 30,000 |4EEEEITHZ S (107.1.31 107.3.27 | 30,000 0
5 | Tt = 1 18,000 | 18,000 [+LEFAEmERA SEHRE  107.1.31 107.4.23 | 18,000 0
o B B REE
6 |HES[ETIE = 1 60,000| 60,000 |HEHA 107.1.31 107.6.19 | 60,000 0




LB (R A S T % B

B % KABI0EEEEFEAER 39 BE HEk
KE ) [TEK o= WA HE| HE | HEEE S FEEEHE | e B | T8 E | R TeRE
T TR = |1 98,000 98,000 |RFAIFEAMIKAIGE  |107.1.31 107.3.7 | 98,000 0
UNESGTESEGIPN
E%
8 WEZezefe=m =L | 1 98,000 98,000 |HIEE:EHIEHESCHE |107.4.9 107.6.19 | 98,000 0
TR
9 | RFEMMITE X 1 90,000 90,000 |[HrBERAI—HEARE  (107.4.9 107.4.23 | 90,000 0
=EiE 481,000 481,000 0
iRy - Z Nkt 1,006,533




ZithitMENSA LR EEEE S
40 HE BRI

RINEIOTHEELEE [ HFTER

R [TEX FLE Mo HE| BE | HEKE s BH FEammHE | SERHE | 2K E | A TERER
HEPT| 1 | Bk Ee i gE o[ 1 | 51,132 | 51,132 |EEEREZFZE (107.10.26 107.12.3 | 51,132 0
529891 107.9.2858 5
2 (B 58 1300 | 150 45,000 A ERARES A 107.1.31 107.5.21 | 45,000 0
3[Rk Er 25 | 1 | 150,253 | 150,253 | EE R [E] i 107.1.31 107.9.16 | 150,253 0
De=EcS=& aiifii
BEFHT600AZ
i
1 |BE & |5 3,500 17,500 | A EERRFH 107.1.31 107.3.8 17,500 0
5 [EFELR | 1 600 600 |RERESHA 107.1.31 107.3.8 600 0
6 [FEEH &1 1 | 7,000 7,000 |[REIREH 107.1.31 107.2.12 | 7,000 0
T |ATEHEE RS £ 1 450 450  |MCB-2956AF5H%  (107.1.31 107.6.28 450 0
R EXCI
8 |ATSHEE RIS ol | 658 658  [MCB-2956\751%  1107.1.31 107.12.19 658 0
HEH
9 PV | 1 | 98000 | 98,000 |EERESHEME (107131 107.6.19 | 98,000 0
NiEHE 1 E T
10 | R iR e = | 1 | 40,000 | 40,000 |& A 107.1.31 107.6.19 | 40,000 0
11 | EERS a1 7,200 7,200 | By B %S 107.1.31 107.2.14 | 7,200 0
12 | e a1 1 2,980 2,980 | £y R AR S 107.1.31 107.2.14 | 2,980 0
T-EEEE
13 |HiAR |1 84,000 84,000 |E &2 THIAR 107.1.31 107.4.20 | 84,000 0
BN HEIHE8007T
KFEANHIEI007T
14 [ KZ280 235 |1 9,000 9,000 | Ry ERARTSH, FHET4 [107.4.18 107.5.8 9,000 0
S JFE*25007C A & 8
HEREHE
107.3.238% 8
15 |FEi% a1 1 3,118 3,118 | By AR 107.1.31 107.2.15 | 3,118 0
16 |\ @ | 2 6,500 13,000 A B AR F 107.1.31 107.2.26 | 13,000 0
Eat 529,891 529,891 0




ZithitMENSA LR EEEE S
RINEIOTEEEEFHATER 40 HR BKE

L& [T FLH B HE| BE | HEKE iR BH swanmE H AR | sep HER | o | kaiTessd |
BEAM| 1 | T 5a 1 18,000 18,000 |fRE B & 107.1.31 107.3.1 | 18,000 0
426206 | 2 |{EEE% = 1 14,750 14,750 |[(RE N B & 107.1.31 107.3.8 | 14,750 0
3 |EEMS T = 1 39,600 39,600 |fRE N H 107.1.31 107.2.8 | 39,600 0
4 |BEHERE 4H 6 16,500 99,000 |PRE N H = 107.1.31 107.4.10 | 99,000 0
5 & REE = 1 42,000 42,000 |PRE B & 107.1.31 107.3.22 | 42,000 0
6 |ZZ5RE Sk = 1 11,688 11,688 |[(RE N HE & 107.1.31 107.2.14 | 11,688 0
E S = 1 46,000 46,000 |RE N B & 107.1.31 107.2.8 | 46,000 0
8 |HEAH = 1 20,500 20,500 |PRE N HA 107.1.31 107.2.28 | 20,500 0
9 |&ElRzOK = 1 35,800 35,800 |(RE N B & 107.1.31 107.2.11 | 35,800 0
10 BEfERIE AR =0 1 98,868 98,868 |EH N 107.9.18 107.9.26 | 98,368 0
ST
=EiL 426,206 426,206 0
O P+ B AR FI4EE 956,097




it tMEI A bR EECEEEE G
RERIOFEEEEE SR

41 H& B

R [TEX IRaE| Mo HE| BE | HEKE S FEoEmHE | e HEE | S8 | R TEREE
KEM| 1 [BERRREEZ 251 | 99485 | 99485 |[GEHEEEMEE (107131 107.4.24 | 99,485 0
694533 i3 E FEE200 A2
i
2 [ETLEIHR | 1 | 25000 | 25000 |EFEAREE00C [107.1.31 107.3.1 | 25,000 0
RFERHEMEI007T
3 PRIREE | 1 | 80,000 | 80,000 |EEfHAHE#EISOTC |107.1.31 107.9.28 | 80,000 0
4 |EETFM [ 1 99,000 | 99,000 |EZEEHPBEERE 107.1.31 99,000
5 PTHIRMREZE | 1 | 60,000 | 60000 [&EESHGEE (107.1.31 107.3.2 | 60,000 0
) B THETS00 A2
Jii|
6 EFRMREES 2001 99,000 | 99,000 [|GEEBEME (107.1.31 107.6.8 | 99,000 0
i3 B THR 200 A2
i
T |\EER i R = | 1 | 36,000 | 36,000 |[{EF]HNIEER 107.8.31 107.12.31 | 36,000 0
ZE R R B 107.8.88%
B
8 |HFPIRIREEE 21 99,000 | 99,000 [&BEGHAE (107131 107.9.22 | 99,000 0
E3)| 5 FEET1000A
20
9 |HEEEFSETE A {12 | 3,000 36,000 |[EFICRFFEEE  [107.1.31 107.6.30 | 18,000
B G FTIR R RE 107.12.31 | 18,000 0
B
10 |AFSTRERHIOR |1 598 598 |187-TIPAFSH&EE  [107.1.31 107.5.7 598 0
b Es {1 F
11 | ATSHEE AR |1 450 450  |187-TIPAFSHEE  |107.1.31 107.6.28 450 0
% {5
12 |HycE e EE) 511 60,000 60,000 | {8 F1] EEL i i S 107.1.31 107.8.18 | 60,000 0
TEREU EE
FATEEF150 A2




it tMEI A bR EECEEEE G
RERIOFEEEEE SR

41 H& B

gl FLE ==X HE | HELE iR HH FammHE | ek HE | ST E | A TERE
EatE 694,533 595,533 99,000
%N INHETF = 18,000 18,000 |fRE N B & 107.1.31 107.2.9 | 18,000 0
312000
iR (pEei T 5 99,000 99,000 [F5{LEREE MK (107.8.31 107.10.25 | 99,000 0
2 FHRSERRRES
107.8.85% 5
LRI = 58,000 58,000 | EE N BT EEh 107.1.31 107.2.27 | 58,000 0
H.RE N EE
FEEBRE Gl 38,000 38,000 ({2t B R AERH 107.1.31 107.5.11 | 38,000 0
wENEE
S = 99,000 99,000 PA(LIRIE, &% |107.1.31 107.521 | 99,000 0
SR R
EalE 312,000 312,000 0
O P+ B AR FI4EE 1,006,533




it EMEIA R g EEER G
REEEI07FEE S ER

42 HE FRE55HE

LE | [T FHE HA|HE| BE | iEKE R B Fammm I | e HE | S8 | A TR
LHEM 1 pryenEe) %1 1 | 30,000 | 30,000 |[FEEF100-300 200 [107.2.14 107.32 | 30,000 0
830500
2 |BHERERET) 21 1 | 98000 | 98,000 |FHET700-800 A0  [107.2.14 107.5.6 | 98,000 0
3 |HEKETEE) £ 11 | 98,000 | 98,000 |FEEF700-800 A0 107.2.14 107.9.15 | 98,000 0
4 |HByCETEE) % 1 | 70,000 | 70,000 |FEEF200-400 A0 [107.2.14 107.9.25 | 70,000 0
5 |[EGEE) £ 1 | 70,000 | 70,000 [FEEF900 A0 107.2.14 107.11.5 | 70,000 0
6 [PRIREE M | 1 ]99000 | 99,000 [EEfEAREEM#EIS0TT 107.2.14 107.9.7 | 99,000 0
T A fRAEE = | 1 | 20000 | 20,000 [KEFAREAME 107.2.14 107.5.4 | 20,000 0
8 [HokEs@EfndE#a | =X | 1 | 71,000 | 71,000 |EHE 107.2.14 107.9.11 | 71,000 0
9 BRIREZIK | 1 | 96000 | 96000 |&HEEE FE 107.2.14 107.4.15 | 96,000 0
ELFEE200 A 200
10 PROREKZIR | 1 | 96000 | 96000 |[&HEEE L 107.2.14 107.10.27 | 96,000 0
EFEET200 A 200
11 |fmEEs a1 1| 5500 5500 |HEEERESERFEEAN |107.2.14 107.321 | 5,500 0
HE
12 |EpFHEmRE [ = | 1 | 52000 | 52,000 |HEfEAHEIEETT 107.2.14 107.3.27 | 52,000 0
13 B2 = | 1 | 25000 | 25000 |[EfEAEEME]EIT 107.2.14 107.7.12 | 25,000 0
Eat# 830,500 830,500 0
BEARP| 1 (EEEE% = 1 | 33,155 | 33,155 |®ENHEHE 107.2.14 107.7.12 | 33,155 0
125597 2 A% = 1 | 30,000 | 30,000 [|FRENEE 107.2.14 107.5.23 | 30,000 0
3 [EyFRk = 1 | 25000 | 25000 |FENEHE 107.2.14 107.32 | 25,000 0
4 BREFE(LTIE = 1 | 37442 | 37442 |HEA4EFE(LEERE 107.2.14 107.2.18 | 37,442 0
Eal# 125,597 125,597 0
K P+ E AR 956,097




=3l e w N E ARG A | S g = g
KRR I07E L (TR ER

43 BHE G &E

R [TEX FHE B |#E| BHE | HEKE S FammHE | e HB | I | R TERE
LHEF| 1 |[BELfmENE 1 {20,000 | 20,000 |ELATIEHETERS  [107.4.18 20,000
626330 E eI 2 NGB
Fit
2 WEEHZ | 1 | 58000 | 58,000 |EETHEREE [1074.18 107.12.11 | 58,000 0
ES
3 |EpELI084E HfE 751400 | 85 34,000 |WEEEE 107.4.18 107.10.17 | 34,000 0
4 (ENEL08FHIE A 1360 | 125 45,000 [ikEE 107.4.18 107.11.5 | 45,000 0
5 [EIEIRERRE | A 330 | 26 8,580 |HHiAHER 107.4.18 107.11.26 | 8,580 0
6 [BLLETT | 1 | 60000 | 60000 |EEEHESEE [107.4.18 107.9.15 | 60,000 0
rm (B (E A
1507T)FE&T300 A
S
7 [FEAGEBNTCE] | 1 | 10,000 | 10,000 |[REHEE 107.4.18 107.12.11 | 10,000 0
F/K BB
8 PRIRZIK |1 95,000 95,000 [ HE EEE, 107.4.18 107.5.11 | 95,000 0
(BR2K) FEEZIR0 A2
9 PRIRZIK = | 1 95,000 95,000 & HLE EEE, 107.4.18 107.6.27 | 95,000 0
QRIK) ERESLUNES
10 PRERZHK |1 38,000 38,000 |G HE BEE, 107.4.18 107.7.23 | 38,000 0
(1K) FEEZIR0 A 21
11 [ERIE4RE(E | 1 50,000 50,000 |ZE(EHE 107.4.18 107.12.10 | 50,000 0
12 [ = | 11 1,950 21,450 |EAT R EHAKE 107731 107.820 | 21,450 0
FH107.7.138%
13 |likE = |11 840 9,240 AR HANKAE  (107.7.31 107.820 | 9,240 0
F107.7.138% 5
14 HEEAEE |1 1,620 1,620 | AT ELE&EA (107.4.18 107.528 | 1,620 0
15 | |1 4,900 4,900 |[THET505E*98 7T 107.9.18 107.10.18 | 4,900 0
H A EB{F
16 PRIREE T | 1 55,740 55,740 |EE(EA#E#E1500C  107.9.18 55,740
17 |HE ~ BELEH 2| 1 19,800 19,800 |4 FHIREMEAR  107.9.18 19,800




ZIETEMEIIR S L S EE L e S
KERIOFEELEFHTER 43 BHE &
LE | [T FHE HAL|HE| BE | EKE iR HH FaEEH | ERHI | A& | R TERE
AkyhE 3 18007T
EaTEl 626,330 530,790 95,540
EARM| 1 |AFi%E = 1 61,242 61,242 |AR7% B KA 107.4.18 107.524 | 61,242 0
329767
2 |PREEEWIE R =X 1 60,000 60,000 [EICTHERIFE  [107.4.18 107.12.11 | 60,000 0
&85 TF2 S
3 |EEREE 4H 1 33,600 33,600 |[2Em B FE A (107418 107.6.15 | 33,600 0
GRS ER
4 SR = ] 50,925 50,925 &t TERMMRE  |107.7.31 107.9.19 | 50,925 0
NEE
107.7.138% 5
5 [HEE TR = 1 28,000 28,000 |4EREAT B4 107.9.18 107.10.17 | 28,000 0
6 [ERTAE = 1 96,000 96,000 FEFAAHERE  [107.9.18 96,000
EatEl 329,767 233,767 96,000
A - N 956,097




At e bR e B R A

B I% NERITFEELEFERANER 4 BE FEW
R [TEX IRaE| B |#E| HE | HEKE L FammEH | sE HE | ST E | R TERE
KEEFS| 1 |FRkEsSEmeS | 5 | 1 | 230,000 | 230,000 |&rE{E AR 107.4.18 107.9.15 | 230,000 0
521660 FEEF49200 A 200
2 B TEE) | 1 ] 95000 | 95000 |&SHEEEE[ERE O |107.4.18 107.521 | 95,000 0
EHEHT120 2
i
3 [EWEREsise [ KX 1 25,000 25,000 [& 7K e 107.6.19 107.9.11 | 25,000 0
107.5.308%
4 [PRIREE T x| 1 50,000 50,000 |BEfE R HE#E1500C  107.4.18 107.5.21 | 50,000 0
5 |FEfaksdEE ! 23,000 23,000 |EE PN 107.4.18 107.7.1 | 23,000 0
6 |nfi e EEY |1 98,660 98,660 |EE A kFT/EEN 107.4.18 107.6.10 | 98,660 0
et 521,660 521,660 0
BEAM| 1 FREEdEELREL = 1 81,660 81,660 [ FEAL 107.4.18 107.82 | 81,660 0
384000
2 (HEtedETE | 1 98,000 98,000 |Hr Bk 7k 2\ B&3235%  [107.4.18 107.12.21 | 98,000 0
T fEs
3 |RERRESETAE = 1 98,000 98,000 [HiBE: 7k A\ EE245%F:  (107.4.18 107.6.29 | 98,000 0
34FES2555%
4 |WEEVGER R T = 1 71,340 71,340 [ BE: K 2NER395- [107.4.18 107.6.12 | 71,340 0
2 4455E
5 RE4EETRE = 1 35,000 35,000 [Hr®Bh: 7k AN #2454 (107.7.31 107.8.23 | 35,000 0
437385
107.6.228% &
St 384,000 384,000 0
HEPI+EAPIREE 905,660




it EMEI A RS EEER G
e 10T (R TER

45 B AR

LE | [T FHE B\ HE| BE |[HELE iR B FEawEH | e EHE | & | R TERE
KEF| 1 |BEE A 1550 | 22 12,100 |25 EHER 107.2.23 107.12.7 | 12,100 0
905660
2 |[MRE4EEE & 2 | 1,620 3,240 | NS B ER SR 107.2.23 107.10.12 | 3,240 0
BNM-208,166-CLD
3 |HprA A E | | |1 8,400 8,400 | A H5(E 107.2.23 107.3.12 | 8,400 0
4 BRORZIR 5 1 98,000 98,000 [ZHE A& My (107.2.23 107.12.24 | 98,000 0
B FHET120 A2
il
5 |HARREEEgE | =0 | 1 98,000 98,000 |4fE=E B N IR 107.2.23 107.11.10 | 98,000 0
i
6 |ERRfEmEEs | | 1 60,000 60,000 |4 H N IRIE 107.2.23 107.821 | 60,000 0
GpnerE 4
7T |[EEEEEGEE | K| ] 20,000 20,000 |4fEE B RITIVZ 107.2.23 107.9.1 | 20,000 0
AEE R e e
8 PROMETT = | 1 98,000 98,000 [ B &EE THATEY  [107.2.23 107.527 | 98,000 0
150 A0
9 BRERAE 7| 600 85 51,000 |fE 38 S 107.2.23 107.12.18 | 51,000 0
10 PRIREELEST | 5| 1 98,000 98,000 [ B &E THAT4Y  [107.2.23 107.3.25 | 98,000 0
AR E & 1540 N2
il
11 ra8sFiEr | ] 1 98,000 98,000 | T a4 107.8.31 107.11.8 | 98,000 0
R4 i KIRE
12 |G ATLEDIEE | 1 28,920 28,920 |EHN 107.8.31 107.11.8 | 28,920 0
KR
13 |E AHZ S il = |1 98,000 98,000 [E N 107.8.31 107.10.8 | 98,000 0
14 108532 (R IR 201 | 134000 134,000 |2 HEE EES 107.8.31 134,000
Eat# 905,660 771,660 134,000
- ZNg| 0 0
0
Eat# 0 0




Z1L MR EI IR ﬂ:ﬁ?z@ﬁ%«gﬁ: E%E
45 E% Al BHER

e B107TF S E H HETER

g pak |

FHH

[ fir [ |

[={=]

b=t

g’é‘ P g

B

B3

%

B | SER | TR | T ]

g<<<

W&

SUNIR

905,660




it EMEIA R g EEER G
[BIHE107F KB ER

46 HE =HE

R PHX B\ %E| BHE | HE&E S FEEEE I | SEpkH I | SR | R TERER
EHEF| 1 ERRZR | 1 | 714,660 | 714,660 [ZEE (RIEE, 107.2.23 714,660
790660 BEEFHET200A
el
2 | HEAER |1 6,000 6,000 | A ABH - [107.2.23 6,000
3 |HEEHE |1 70,000 70,000 [7rixHEE 107.2.23 107.12.12 | 6,600
107.12.17 | 37,200 26,200
=L 790,660 43,800 746,860
BARM| 1 BRI TRE B2 1 95,000 95,000 S EHNEREEA [107.2.23 95,000
115000 | 2 |A&tREETIRE | 1 20,000 20,000 |Hk#5 B R A 107.2.23 20,000
=EaL 115,000 115,000
E P+ EAPTHEEL 905,660




it EMEIA R g EEER G
AR EEEE R ER

47 B [f5E

R [TEX Hi|#E| HE | HELKE L FammHE | SERCH B | ST | R TERE
HM| 1 |[FEsEE BE | 3 | 10,000 | 30,000 |HrEEEFLIEL101 107.4.18 107.64 | 30,000 0
723660 B~ R AEES00
BIOHEAT ~ KD
FE L
2 [ERERRERLEE FE | 1 3,500 3,500 [HBEELLER 101 107.4.18 107.6.4 3,500 0
15T
3 |[[EHEM a1 8,000 8,000 |75 107.4.18 107.5.2 8,000 0
4 FEMEROE - = | 1 75,000 75,000 | BEH 108 HE 107.8.31 107.12.12 | 65,250 9,750
A& AR ERE
5 ([EEASEROREE) | 1 95,000 95,000 [ZEE, frbs,f95E [107.8.31 95,000
B EE THET
HNREH
6 |AHHEEENRME |1 2,366 2,366 |\ TS5 E( 107.8.31 2,366
B R Rk 167-CLD,BNM-209
T |[EE4EE = | 1 | 100,000 100,000 |E ¥\ B EL 4 107.8.31 | 50000 107.10.26 | 12,000 88,000
& 107.10.5%% 107.10.26 | 50000
8 |108E[5GHTEE) = | 1 | 200,000 200,000 |&EEHHZEETE  107.10.26 200,000
=250 A&
107.10.58 5 107.10.26
O |108FkErEGESED | =0 | 1 | 209,794| 209,794 | & AR MRS TE 209,794
=250 A&
107.10.58% &
oty 723,660 106,750 604,910
EAM| 1 [BLEE10ERE |2 1 96,500 96,500 [FFLLIE&110£510-15%  [107.8.31 96,500
182000 THE 2135k
2 BRI = 1 85,500 85,500 (5 AR SERRE 107.8.31 85,500
1 N B 31 5
EEE
Lty 182,000 182,000
EPI+EATI4EE 905,660




At e bR R B R A
PEHEIOTFEEE T ER

48 HE B

R [TEX FLE A HE| BE [HELKE R B FEEHE | SElHER | S8 E | R TEREE
KHEFI| 1 |[FocisE 21 1 | 120,000 120,000 [ {EEEME  (107.2.23 107.8.24 | 120,000 0
755660 EAREHE1507T,
FEET200 A 210
2 [ANHTEEAEE = | 1 12,000 12,000 |4EREHNIRED)E  (107.2.23 107.12.31 | 12,000 0
A
3 [CEARSR = | 1 | 4,000 4,000 | A5 FH 107.2.23 107.5.8 4,000 0
4 BRIRZIKL = | 1 140,000 140,000 |[ZHE E&EMRE  [107.2.23 107.5.24 | 140,000 0
EETHRTEII20 A
1
5 [HEE4EE = |1 | 1,600 1,600 [838-KGG/A\ #4514 107.2.23 107.11.21 | 1,600 0
A
6 |EFERE @] 1 | 3,500 3,500 [HIEL:SEEE339E  [107.2.23 107.5.16 | 3,500 0
T PRERZNR2 = | 1 |150,000 150,000 |[&HE&E E&EMRE  [107.2.23 107.7.19 | 150,000 0
EETHAAY120 A
21
8 [FEHE K FRE M ft | 1 16,000 16,000 |HAEEEAL B [107.2.23 107.10.31 | 16,000 0
7 {E R E T
0 [FEI4EE | 1 15,000 15,000 | B Ay EL 4k 107.2.23 107.8.16 | 15,000 0
10 [T | 1 25,000 25,000 | B i L 4 107.2.23 107.5.16 | 25,000 0
11 R85 & | 1 6,500 6,500 (M &L 5 E 15098 [107.2.23 107.11.14 | 6,500 0
12 e AR FHE Gl 1,108 1,108 |\ F51#% Ea (55 F 107.2.23 107.6.27 | 1,108 0
iRl
13 [EILHIAR |1 15,400 15,400 |HEZFEAR#E#E3000C  [107.2.23 107.6.28 | 15,400 0
K FEARHEHE1800
T
14 |-HRKET S 21 1 | 110,000 110,000 |[&BEEELE  [107.2.23 107.9.21 | 110,000 0
{E R 15077 %
FEE200 A 2410
15 |REREMRIREE ft ] 1 79,500 79,500 |EE{EA#E #1500 [107.2.23 107.54 | 79,500 0
o
[mym




At e bR R B R A
PEHEIOTFEEE T ER

48 HE B

KER| TEX FLE Wiy |HE| HE |[HEEE S FEfmEEHE | Ssep HHEE | 88 | R TEREE
16 [FLLfEfT7ES 851 56,052 56,052 [SIR{REESLEE  (107.2.23 107.4.14 | 56,052 0
[EAREHE15077) %
FEE200 A2
=i 755,660 755,660 0
EAM| 1 |EEETE =X 1 70,000 70,000 |G FEEE  (107.2.23 107.5.21 | 70,000 0
150000 2655
2 MEfTETER AR = 1 80,000 80,000 [HIBE:FEH1068  [107.2.23 107.4.17 | 80,000 0
245755 K 2059571
EatE 150,000 150,000 0
HE P+ E A PI4EE 905,660




ZithtMENS A R EE S EEEE RS

B RINHEIOTFELEFHGER 49 HE @A
LE | [T FLE Mo HE| BE | HEKE R B FamE HI | e EH | SUTE&E | R TERE
HEFT| 1 [IeReER R |36 | 1,600 57,600 [FFEEREERSAT |107.1.31 107.5.25 | 57,600 0
615660 FrEEEY R SR
2 FRIREESR |1 99,000 99,000 [7riA R BHEAR 107418 107.82 | 99,000 0
HiE1507T
3 PREREESEN |1 82,500 82,500 |7 R BEEAR  [107.4.18 107.828 | 82,500 0
1507
4 \FEEHKH “4H | 1 8,000 8,000 (B EIFAEE  [107.4.18 107.9.11 | 8,000 0
HABRKERE
i
5 [FEItRESE | 1 8,100 8,100 | A5 H 107.4.18 107.531 | 8,100 0
6 PFRORZIK | 1 | 150,000 150,000 [ & & Rz [107.4.18 107.8.22 | 150,000 0
e NN
Jii|
(AN = |1 658 658 IMCC-7590AF51%  107.4.18 107.5.16 658 0
EXCI
8 | AFSIREEARHE |1 450 450 IMCC-7590 A F58#%  [107.4.18 107.7.27 450 0
HE H{H A
9 |BEEEEy |1 10,000 10,000 |BE(EA#EE1IE T (107.8.31 107.11.10 | 10,000 0
G B B ENS
Fit
10 PRIRZHR2 2001 | 115352 115352 |G H&E & R (107.8.31 115,352
B THETTOA S
piji
11 |EGSERE T |1 84,000 84,000 |BEE(EFHE#E3000C  [107.9.18 107.10.22 | 84,000 0
107.9.55%
St 615,660 416,308 115,352
EAM| 1 [EERKE = 1 10,500 10,500 |7 B AR 107.4.18 107.9.11 | 10,500 0
290000 JEEHAREKEMR
R 107.4.285%F




ZithtMENS A R EE S EEEE RS

Fro e SN

B RINHEIOTFELEFHGER 49 HE @A
LE | [T FLE HALHE| BE | HEKE S FamE HI | e EH B | SUTE&E | KT
2 [EERLAEE 1 25,000 25,000 (B EEFARKE LS |107.4.18 107.5.31 | 25,000 0
%A
3 |[APEHIE TAZ = 1 45,500 45,500 pEL 2= = |107.8.31 107.10.5 | 45,500 0
37182072055 HF
ATHERE 55
107.7.138% 5
4 PKESHEEET | 1 90,000 90,000 (M B 2 ZEE —E  |107.4.18 107.9.5 | 90,000 0
2 3695 KT #T
5 | EAREEREE | 1 20,000 20,000 [HrBEESRIEEER  (107.8.31 107.10.5 | 20,000 0
TH SEEIGAT (R E S
= F0585k2%)
107.7.138%
6 [FEMENEIE A2 = 1 99,000 99,000 (&L 2 ZpE =F  |107.8.31 107.10.30 | 99,000 0
3708515525 3
107.7.1388
St 290,000 290,000 0
P9+ B A PI4EE 905,660




ZithtMENS A R EE S EEEE RS
SRR 107 L HEER

50 B e

R [TEX FLE Mo HE| BE | HEKE iR B FammHE | SERCH B | ST | R TERE
KHEFT| 1 |[FRkEIBEmG g = | 1 | 80,000 | 80,000 [FEEFS00A M0 107.2.23 107.9.21 | 80,000 0
467560
2 |(EGACEEE) | 1 | 86,000 | 86,000 [MBEEEIEEES  (107.2.23 107.10.14 | 86,000 0
=TEEF100 A 200
ESremEENE
#E3007T)
3 PRORSEHEHE) | 1 | 112,000 | 112,000 [&HEEFEEE (107.2.23 107.5.15 | 112,000 0
EEFE200A2
i
4 BEETHES |1 | 14777 | 14777 |[EEEFEEE (107223 107.6.29 | 14,777 0
S BETHB0AS
hn (BE10SAF 2
ZH20007CHEF)
5 PRORETEEH | 1 | 16080 | 16,080 |HEEAHREILMH 107.7.31 107.10.22 | 16,080 0
(BF1064F-110007T
{e FH4E51270807T)
107.7.128% 5
6 [FUESYEE x| 1 | 6000 6,000 [HIBLANEEREDE  [107.2.23 107.626 | 6,000 0
7 |[ESLEE |1 | 6500 6,500  [HEBELFREEES [107.2.23 107.626 | 6,500 0
=
8 |EHEAA4EE = | 1 | 24,000 | 24,000 [HEKA 107.2.23 107.6.26 | 24,000 0
O |RZENHRI = | 1 | 29000 | 29,000 [EEEAEBER 0 (107.2.23 107.5.16 | 29,000 0
(BF1064F-170007T
{5 FH 485 1+460007T)
10 [&EE(ERRER T = | 1 | 78000 | 78,000 |HEANIEEE4EE 107.2.23 78,000
11 |EESCERS | 1| 4503 4503 |AFSH107.7.128%  (107.7.31 107.12.3 | 4,503 0
Ed
12 |R2 BRI [ 1 | 10,700 | 10,700 |[AFH107.7.1288  {107.7.31 107.12.7 | 10,700 0
F(BF104F A Z%E
49007 T{5 F44E




2t MEI e S S E L B
RINBEI0TFELEFHGES 50 HE FEE
LR [TE FLE Mo HE| BE | HEKE R HH FEammH | e H | SIAEE | A TERE
156007T)
EaTE 467,560 389,560 78,000
EARF| 1 (A sEsnfT =0 1 | 26,640 | 26,640 [BEFEEEAE LR 107.7.31 107.9.17 | 26,640 0
438100 FAERETIE ENEE
107.7.128%
2 BAAEMEE R 1 | 27,840 | 27,840 [HK 107.7.31 27,840
(Eam 107.7.128 &
3 PrEEEITRE = 1 | 41,100 | 41,100 PFEOHEEPAN20%E  107.2.23 107.8.15 | 41,100 0
4 PiEEE T = 1 | 56,000 | 56,000 PFELHEEANIEE  [107.2.23 107.8.15 | 56,000 0
81-875%
5 |BEEMTRE = 1 | 120,000 | 120,000 [EIHEERN 107.2.23 107.9.25 | 120,000 0
6 [HZH I TAZ = 1 | 49,000 | 49,000 |[ZRLEEAWGFI06 (107.2.23 107.822 | 49,000 0
HE150007T {5 FH4E
£1640007T)
T \AESEAEHET R 1 | 16000 | 16,000 |[BEIHEERN 107.2.23 107.8.22 | 16,000 0
2
8 PKEE(balEdEE || 2 | 18,000 | 36,000 [FELIHEHERK 107.2.23 107.62 | 36,000 0
AT A2
9 |AHEREFEFKT X 1 | 65520 | 65520 [|EN 107.7.128% 107.7.31 107.822 | 65,520 0
2 Ed
EalE 438,100 410,260 27,840
K P+ EARPTHEE 905,660




it tMEIA bR EESEEER G
iR H 107 LB HEER

53 HE %=

R [TEX FLE Mo HE| BE | HEKE iR B FEEHE | SERRHE | & | R TERE
KEF| 1 PRERZIR 51 45,000 45,000 |2 HE friaE, & (107.1.31 107.5.25 995 44,005
605660 HES RN
H(FF1064F:144683
TC{H 451189683
JT)
2 RGP TS 511 72,000 72,000 |2 EEMEEARA  (107.1.31 107.11.3 | 72,000 0
Lol I 1507T), i 2
KFERFE,
FEEF300 A 20
3 |hkiEr 851 80,000 80,000 | & &Ex FEEETE  (107.1.31 an 107.9.22 | 80,000 0
§+4OOA92QD D 107 . 8-3 1 20000
107.7.25%%
4 | HEARSE |1 5,000 5,000 |75 107.1.31 107.323 | 5,000 0
5 |[ROK 23 | 1 80,000 80,000 [EE A 107.1.31 107.12.17 | 80,000 0
6 | T FrE ey 4 = | 1 24,000 24,000 [HA 107.1.31 107.8.17 | 4,000
i 107.10.25 | 20,000 0
T | TS e = |1 3,000 3,000 (Mt EEA(fEARZE—  [107.1.31 107.5.7 3,000 0
JEEES
8 |[HEM a1 6,400 6,400 |ABRMRE ACE 107.8.31 107.9.13 | 6,400 0
£ 107.7.05%%5
9 [EILR X |1 31,500 31,500 |EZEAH#E#E8007C  107.8.31 107.9.18 | 31,500 0
RFERHEHEI007T
107.7.25%% 5
10 [BR/KA% ) O B A = | 1 2,400 2,400 | A\ TS5 FH 107.8.31 107.10.3 | 2,400 0
107.7.25%% 5
11 BRREET | 1| 256360 256,360 |EL{E RS0 |107.8.31 256,360
St 605,660 305,295 300,365
EAM| 1 [BREHEEI TR = 1 98,000 98,000 [Ht B Gl FE RS 107.1.31 107.10.15 | 98,000 0
300000
2 PERERAELAER | 1 12,000 12,000 [HEBEAIFERE—  (107.1.31 10743 | 12,000 0




b EI S b ESEEHE e
EOZREI0TFEEKEFHGER 53 HE A%EE
LE | [T FLE Mo HE| BE | HEKE R B FEammHE | SERREER | S&E | A TERE
BEHKINE TR IS e
GRS 75l A 5= 1 58,240 58,240 [HiB: 2 ZEE2EE]L (107.2.23 107.5.7 | 58,240 0
BN
4 [EECHYEERS & | 1 |30000 | 30,000 [|ABEREEAN: [107.8.31 107.12.13 | 30,000 0
HE 107.7.25%&#
(GF1054£150007T
{8 FH 42 51450007T)
5 |#ETE & | 1 | 11,000 | 11,000 |A#BERAE A [107.831 107.9.14 | 11,000 0
HE 107.7.25%F#
6 Bl TiE | =X 1 | 90,760 | 90,760  [HiELBIEEL 107.8.31 90,760
Eat 300,000 209,240 90,760
A N 905,660




	01 仁勇里
	02 義信里
	03 福林里
	04 福德里
	05 福志里
	06 舊佳里
	07 福佳里
	08後港里
	09 福中里
	10 前港里
	11 百齡里
	12 承德里
	13 福華里
	14 明勝里
	15 福順里
	16 富光里
	17 葫蘆里
	18 葫東里
	19 社子里
	20 社新里
	21 社園里
	22 永倫里
	23 福安里
	24 富洲里
	25 岩山里
	26 名山里
	27 德行里
	28 德華里
	29 聖山里
	30 忠誠里
	31 芝山里
	32 東山里
	33 三玉里
	34 蘭雅里
	35 蘭興里
	36 天福里
	37 天祿里
	38 天壽里
	39 天和里
	40 天山里
	41 天玉里
	42 天母里
	43 永福里
	44 公館里
	45 新安里
	46 陽明里
	47 菁山里
	48 平等里
	49 溪山里
	50 翠山里
	53 臨溪里

